GIST OF THE LESSON
UNIT-1

INTRODUCTION

Meaning of economics:  Economics is the science which studies human behavior as a relationship between ends and scarce means which have alternative uses.

Meaning of an economy:-Economy is the system which provides people the means to work and earn a living. Or it is a frame work within which economic activities like production, consumption, and capital formation are undertaken.

Meaning of scarcity:-It is defined as excess of demand over available supply, i.e., demand of resources greater than supply of resources.

Economic problem:-The problem of making a choice is called economic problem.

Causes of economic problem: - It arises due to Scarcity of resources unlimited human wants Resources can be put to alternative uses

Scarcity and Choice go together:-Scarcity and choice are not separable because resources are limited or scarce and the problem of choice arises due to it.

Economizing of resources:-Our wants are unlimited and resources are limited, so we have to use the resources fully and efficiently. It means that resources should be best utilized. This is called economizing of resources.

Central Problems of an Economy:-Central problem of an economy is Allocation of resources. The three central problems relating to allocation of resources are:-

What to produce:-The problem of what to produce and in what quantity is the first basic or central problem. It is related to the selection of goods. Our resources are limited. So first problem that we have to face is which goods and services are to be produced e.g. consumer goods or capital goods, war time or peace time goods. After the decision has been taken the quantities of these goods should also be decided.

How to produce:- The second important problem is the problem of choice of technique of production. That means we have to decide whether to use labour intensive technique (it uses more of labour than capital) or capital intensive technique (it uses more of capital than labour).However the choice of technique depends on the objective of the producer. The producer can use labour intensive, capital intensive or both technique of production. The main aim is to use the efficient technique of production.

For whom to produce:-This is also called the problem of distribution of National Income among the factor of production. For whom to produce is actually the problem of determining wage rate for the use of labour, rent for the use of land, interest for the use of capital and profits for the producer to ensure equitable distribution of income and welfare in the society?

Production possibility curve or frontier:
A production possibility curve/ frontier show different combinations of two commodities that can be produced by an economy with the full use and efficient utilization of given resources and technology.

(i) Normally, the production possibility curve is concave to the origin. It is because of increasing marginal opportunity cost.

(ii) A production possibility curve shifts out due to technological progress or increase in the 
supply of resources available to an economy or both.

Assumptions of PPC-

1) Resources are constant.

2) Technology is given.

3) Resources are fully and efficiently used.

4) Production of only two goods can be shown in a PPC.

Features of PPC-

1) It is downward sloping.

2) It is concave to the origin.

Shifting/Rotation of PPC

(I) Change of Resources
(II) (ii)Change in technology

Efficient technology for the production of Commodity – X: Efficient technology for the production of Commodity – X would mean more production of commodity – X with the same resources. Accordingly, PPC would rotate (NOT SHIFT) as shown in Fig

Efficient technology for the production of Commodity – Y : Efficient technology for the production of commodity – Y would mean more production of Y with the same resources. Accordingly, PPC would rotate (NOT SHIFT) as shown in Fig
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Efficient technology for the production of both X and Y:

Efficient technology for the production of both X and Y would mean much greater production of both X and Y with the same resources. Accordingly, PPC would shift to the right as shown in Fig. 
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Opportunity Cost (Transformation cost)-

The opportunity cost of a factor is equal to the value of a factor in its next best alternative use, eg-A plot of land can be used for wheat and rice production. Production of wheat provides earning of Rs. 1 lakh and Production of rice provides earning of Rs. 90000.If we produce wheat then its opportunity cost is Rs. 90000, which is the value of rice sacrificed. 

  Marginal opportunity cost (or Marginal Rate of Transformation)-

The marginal opportunity cost of good X is the rate of sacrifice of the other good, say, Y, per unit increase in the production of good X.

                                                         Or

The marginal opportunity cost of good X is defined as the amount / quantity sacrificed of good Y per unit increase in production of good X.

Marginal opportunity cost along a PPC.

	Production of Good X
	Production of Good Y
	Marginal Opportunity Cost of Good X in terms of  Good Y or amount sacrificed of good Y per unit increase in good X 
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	0
	18
	-

	1
	17
	1

	2
	15
	2

	3
	12
	3

	4
	8
	4

	5
	3
	5


Note: The above table shows the case of increasing marginal opportunity cost. To produce one more unit of Good X, increasing units of Good Y have to be sacrificed. For example, to produce the first, second, third, fourth and fifth unit of Good X, 1, 2,3,4 and 5 units of Good Y have been sacrificed respectively.

The shape of PPC depends on MOC :

1. If MOC is increasing PPC is concave.

2. If MOC is decreasing, PPC is convex.

3.If MOC is constant, PPC is a straight line.

The Fig Illustrates the concept of marginal opportunity cost.
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 It is assumed that initially resources are employed such that, output in Use-1 = OK and output in Use-2=OL

 M.O.C = Loss of Output of Good Y/Gain of Output of Good X



= KK1 / LL1



= ab / bc



= Slope of production possibility curve 

Micro and Macro Economics:

Micro economics studies the behavior of individual economic units of an economy like a consumer, a producer for different goods and services.

 Macroeconomics studies aggregates at the level of the economy as a whole like aggregate demand, aggregate supply, problem of full employment, total saving, total investment, aggregate price level, etc.

UNIT-2
                 CONSUMER’S EQUILIBRIUM AND DEMAND
POINTS TO REMEMBER:-

Consumer: is an economic agent who consumes final goods and services to satisfy wants.

Utility:- It is the want satisfying power of a commodity. This is measured in terms of ‘utils’-
Utility can be of two types.

(a)
Total Utility:-TU is the sum total of satisfaction  that the consumer derives when a certain number of units of a particular commodity are consumed. 

                Tux= f(Qx) or TU = ∑ MU 

(b)
Marginal Utility:- It is a change in total utility by consuming an additional unit of a commodity or in other words MU is the additional satisfaction derived from the consumption of an additional unit of the commodity.

                    MUn = TUn – TUn-1
Alternatively: MUx= ∆ TUx/ ∆/Qx

Law of Diminishing Marginal Utility : As consumer consumes more and more units of commodity, the Marginal utility derived from the  each successive unit goes on declining.

Consumer Equilibrium :-Consumer equilibrium refers to  a situation when a consumer maximizes her satisfaction out of her given money income and the price of the desired good(s) and there is no tendency to deviate from that situation.
Conditions of consumer equilibrium
In case of one good:  
MUx/PX=Mum   or MUx / MUm=PX or Mux=PX

 Let the consumer consume a good X and its price is [image: image4.png]Px



 and MU derived from it is [image: image6.png]MUx
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The condition of consumer equilibrium will be
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 =Re.1, then the condition will be  
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ORDINAL UTILITY ANALYSIS (IC ANALYSIS)

Introduction: 

Two English economists J. R. Hicks and R.G.D. Allen fired heavily shells at cardinal utility theory and propounded indifference curve approach based upon the notion of ordinal utility. It implies that utility being psychological concepts cannot be measured cardinally rather they can be ranked. Indifference Curve method was evolved to supersede the cardinal utility analysis of demand.

Budget set/ Budget Space:

Budget set is the collection of all those consumption bundles which costs the consumer exactly equal or strictly less than two her money income. Mathematically:





[image: image16.png]P1x1 + P2x2 < M




Budget Line/ Price Line:

It is the locus of points of all those consumption bundles which costs the consumer exactly equal to her money income. Mathematically:
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(i) Monotonic preferences:

A consumer’s preference is said to be monotonic if and only if the preferred bundle consists of more of at least one good and no less of the other good in comparison to the non-preferred bundle.

INDIFFERENCE CURVE (IC) :

Indifference Curve (IC) is the locus of points of all those consumption bundles among which the consumer’s preference is indifferent. In other wards it is the locus of points of all the consumption bundles which gives the consumer equal level of satisfaction.

Indifference Map: 

It is the family (Collection) of indifference curves
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Marginal Rate of Substitution (MRS):

MRS is the rate of sacrifice of one good in order to consume an additional unit of another good along an Indifference curve. This can be under stood from the following table and diagram.

It is measured by 





MRSxy[image: image21.png]__ Changein Good ¥
~ Change in Good X




Mathematically, MRSxy[image: image23.png]



	Good-X
	Good-Y
	MRSxy
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	1
	20
	-
	

	2
	12
	8:1
	

	3
	6
	6:1
	

	4
	4
	2:1
	


This MRS xy is nothing but the slope of the Indifference Curve.

Properties of Indifference Curve:

           (a) Indifference curve is downward sloping from left to right

           (b) Indifference curve is convex to the point of origin

           (c) Higher IC represents higher level of satisfaction

   (d) Two IC’s can never intersect each other

Consumer’s equilibrium by IC Analysis (Hicks and Allen approach) Conditions:

· First order/Necessary Conditions:
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Or,   Slope of IC = Slope of Budget Line

Or, Budget Line is tangent to the IC

· Second Order / Sufficient Conditions:

At the point of tangency IC must be convex to the point of origin Or , MRSxy must be diminishing

DEMAND

Introduction:

We are interchangeably using the word desire , want and demand. In a layman’s point of view demand means effective desire to have a commodity backed by willingness to pay and ability to pay.
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In economics demand is something different. The demand for a commodity is essentially consumer’s attitude and reaction towards that commodity. This consumer’s attitude gives rise to actions in purchasing a certain number of units of a commodity at various given prices.
Meaning:

Demand refers to various quantities of a particular commodity that a consumer is ready to buy at different prices.

Types of demand:

Demand is two types:

· Individual demand

· Market demand

Individual demand -It refers to various quantities of a particular commodity that a particular consumer is ready to buy at its various possible prices
Determinants

Followings are the determinants of individual demand

· Own price: when price of commodity is fall its quantity demand increases and when its price rises its quantity demand decrease

· Price of related goods: the quantity demand of a commodity is affected by the price of its related commodity. Like its substitutes and complementary goods

· Substitute Goods: Two goods are called substitute to each other when price of one good and quantity demand of the other varies directly with each other. In simple language those goods which are used one in others place are called substitute typo each other. Ex: Tea and Coffee

· Complementary Goods: Two goods are called complementary to each other when price of one good and quantity demand of the other varies inversely with each other. In simple language those goods which are used jointly are called substitute typo each other. Ex: Tea and Sugar

· Income of the consumer: When income of a consumer rises its quantity demand will increase and when income falls its quantity demand decreases

· Tastes and preferences: if a commodity is in fashion or preferred by the consumer then its demand will increase and if it is out of fashion its demand will decrease.
Demand schedule:

Tabular representation of various quantities of a particular commodity that a particular consumer is ready to buy at its various possible prices is called a demand schedule.

Demand curve:

Graphic representation of a demand schedule which represents various quantities of a particular commodity that a particular consumer is ready to buy at its various possible prices is called a demand curve
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Demand Function:

Functional relationship between quantity demand of a commodity and its various determinants

[image: image28.png]gx = f(Px,Pr,1,T)




qx = Quantity demand of commodity-X , Px= Price of commodity X , Pr = Price of related commodity of X , I = Income of the consumer , T = Taste of the consumer

but in general we keep other determinants constant and draw the relationship between price of a commodity and its quantity demand 

    [image: image29.png]q = f(p)




In a typical linear equation the demand equation is 

   [image: image30.png]q=a—bp




Here a is the vertical intercept and (-) b is the slope of the demand curve: (-)    b[image: image32.png]


 (Rate at which q changes with respect to p)

Slope of a demand curve:

· Slope of the demand curve measures the rate at which demand changes with respect to its price

· Slope of a curve is derived by the ratio of change in the dependent variable to change in the independent variable and through a graph by the ratio of change in the variable in vertical axis to change in the variable in horizontal axis

· Generally we take the independent variable in horizontal axis and dependent variable in vertical axis

· But in case of the demand curve we are taking the reverse

· So the demand curve is an inverse demand curve

        Therefore its slope as per the curve is the inverse as per the equation

                        So the [image: image34.png]slope of the demand curve = 72—:
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Market demand:

It refers to various quantities of a particular commodity that all consumers in the market are ready to buy at its various possible prices. It is the summation of individual demands.

[image: image36.png]market demand = z individual demands




Law of demand

Statement:

Other things remaining constant (Ceteris Paribus) when price of a commodity rises its quantity demand decreases and when price of a commodity falls its quantity demand decreases

Assumptions:

· Income of the consumer remain constant

· Price of the substitute and complementary goods remain constant

· Taste and preferences of the consumer remain constant

Change in quantity demanded: (Movement along the demand curve)

When quantity demand of a commodity changes due to change in its own prices and other determinants remaining constant it is called change in demand 

This is of two types: 

(a) Expansion/extension in demand:

· when quantity demand of a commodity increases due to fall in its price

· in this case there is upward movement along the demand curve

(b) Contraction in demand:

· when quantity demand of a commodity  increases due to fall in price

· in this case there is upward movement along the demand curve
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Change in demand (Shift in demand curve)

When quantity demand of a commodity changes due to change in its other determinants and own price remaining constant it is called change in demand 

Types:

This is of two types: 

(i) Increase  in demand:

· when quantity demand of a commodity increases due to favorable change in its other determinants like income , price of related commodity and own price remaining constant

· in this case there is right ward parallel shift of the  demand curve

(ii) Decrease  in demand:

· when quantity demand of a commodity decreases due to unfavorable change in its other determinants like income , price of related commodity and own price remaining constant

· in this case there is left ward parallel shift of the  demand curve
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Distinction between change in demand and change in quantity demand

	Basis
	Change in quantity demand
	Change in demand

	Meaning
	When quantity demand of a commodity changes due to change in its own prices and other determinants remaining constant it is called change in demand 
	When quantity demand of a commodity changes due to change in its other determinants and own price remaining constant it is called change in demand 



	Cause
	Change in own price
	Change in other determinants other than price like income of the consumer , price of related commodity , taste and preferences of the consumer

	Types
	extension in demand

contraction in demand
	i. increase in demand

ii. decrease in demand 

	Effect on  demand curve
	Movement along the demand curve
	Shift in demand curve

	Equation
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	Diagram
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Distinction between extension in demand and increase in demand

	Basis
	Extension in demand
	Increase in demand

	Meaning
	When quantity demand of a commodity increases due to fall in its own prices and other determinants remaining constant it is called extension in demand 
	When quantity demand of a commodity increases due to favorable changes  in its other determinants and own price remaining constant it is called increase in demand

	Cause
	Fall  in own price
	Favorable Change in other determinants other than price like increase in income of the consumer , fall in price of substitute commodity etc.


	Effect on  demand curve
	Downward movement along the demand curve
	Right ward shift of the demand curve

	Diagram
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Distinction between contraction in demand and decrease in demand

	Basis
	contraction in demand
	Decrease in demand

	Meaning
	When quantity demand of a commodity decreases due to rise in its own prices and other determinants remaining constant it is called contraction in demand 
	When quantity demand of a commodity decreases due to unfavorable changes  in its other determinants and own price remaining constant it is called decrease in demand 

	Cause
	Rise in own price
	unfavorable Change in other determinants other than price like decrease in income of the consumer , rise in price of substitute commodity etc.

	Effect on  demand curve
	Upward movement along the demand curve
	Left ward shift of the demand curve

	Diagram
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Distinction between extension in demand and contraction in demand

	Basis
	Extension in demand
	contraction in demand

	Meaning
	When quantity demand of a commodity increases due to fall in its own prices and other determinants remaining constant it is called extension in demand 
	When quantity demand of a commodity decreases due to rise in its own prices and other determinants remaining constant it is called contraction in demand 

	Cause
	Fall  in own price
	Rise in own price

	Effect on  demand curve
	Downward movement along the demand curve
	Upward movement along the demand curve

	Diagram
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Distinction between increase in demand and decrease in demand

	Basis
	Increase in demand
	Decrease in demand

	Meaning
	When quantity demand of a commodity increases due to favorable changes  in its other determinants and own price remaining constant it is called increase in demand 
	When quantity demand of a commodity decreases due to unfavorable changes  in its other determinants and own price remaining constant it is called decrease in demand 

	Cause
	Favorable Change in other determinants other than price like increase in income of the consumer , fall in price of substitute commodity etc.
	unfavorable Change in other determinants other than price like decrease in income of the consumer , rise in price of substitute commodity etc.

	Effect on  demand curve
	Right ward shift of the demand curve
	Left ward shift of the demand curve

	Example
	P         Income       Q

10          100          10

10          200           20


	P         Income       Q

10          200          20

10          100          10



	Diagram
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Effect of change in income of the consumer on quantity demand of a commodity

The effect of change in income of a commodity on quantity demand of a commodity can be explained in case of two types of commodity

Case-I: Normal good:

Meaning: 

A good is called normal good when its quantity demand varies directly with change in income of the consumer. It implies that when income of the consumer rises its quantity demand increase and when income of the consumer falls its quantity demand decrease. For example good quality rice

The effect on change income can be explained for the two cases When income increases:

· In this table when the income of the consumer increase from 100 to 200 units its quantity demand increase from 10 to 20 units

· In the diagram the original demand curve is D

· When income increased the demand curve shifts rightward as D1
· This implies there is increase in demand

	Income
	Demand
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	100
	10
	

	200
	20
	


When income decreases

· In this table when the income of the consumer decrease from 200 to 100 units its quantity demand decrease from 20 to 10 units

· In the diagram the original demand curve is D

· When income decreased the demand curve shifts leftward as D1
· This implies there is decrease in demand
	Income
	Demand
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	200
	20
	

	100
	10
	


Case-II: Inferior good: 

Meaning: 

A good is called inferior good when its quantity demand varies inversely with change in income of the consumer. It implies that when income of the consumer raises its quantity demand decrease and when income of the consumer falls its quantity demand increase. For example low quality rice

The effect on change income can be explained for the two cases


When income increases:

· In this table when the income of the consumer increase from 100 to 200 units its quantity demand decrease from 20 to 10 units

· In the diagram the original demand curve is D

· When income increased the demand curve shifts leftward as D1
· This implies there is decrease in demand
	Income
	Demand
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	200
	20
	

	100
	10
	


When income decreases

· In this table when the income of the consumer decrease from 200 to 100 units its quantity demand increase from 10 to 20 units

· In the diagram the original demand curve is D

· When income decreased the demand curve shifts rightward as D1
	Income
	Demand
	[image: image54.jpg]v Rightward Shift in Demand Curve






	100
	10
	

	200
	20
	


Effect of change in price of related commodity on quantity demand of a commodity

The effect of change in price of related commodity on quantity demand of a commodity can be explained in case of two types of commodities.

Case-I : Substitute / Competitive goods

Meaning: 

In a layman’s point of view two goods are called substitute to each other when they are used one in others place.

But in economic sense two goods are called substitute to each other when price of one good and quantity demand of the other varies directly with each other. It implies when price of one good increases quantity demand of the other increases and when price of one good decreases quantity demand of the other decreases. For example: Tea and Coffee, rice and bread, pen and pencil etc

The effect of change in price of substitute good can be explained under the two cases - case of tea and coffee
When price of substitute good increases

· When price of tea increases , the consumer will consume less amount of tea (due to law of demand)

· At the same time price of coffee remaining constant it will became comparative cheaper to tea

· As coffee is used in place of tea so the consumer will substitute tea for coffee

· As result the quantity demand of coffee will increase

· In this diagram the original demand curve of coffee is D

· Due to rise in price of tea the demand curve of coffee will shift rightward as D1
· This implies there is increase in demand
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When price of substitute good decreases

· When price of tea decreases, the consumer will consume more amount of tea (due to law of demand)

· At the same time price of coffee remaining constant it will became comparative costlier to tea

· As coffee is used in place of tea so the consumer will substitute coffee for tea

· As result the quantity demand of coffee will decrease

· In this diagram the original demand curve of coffee is D

· Due to fall in price of tea the demand curve of coffee will shift leftward as D1
· This implies there is decrease in demand
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Case-II : Complementary / Supplementary goods

Meaning: 

In a layman’s point of view two goods are called complementary to each other when they are jointly demanded.

But in economic sense two goods are called complementary to each other when price of one good and quantity demand of the other varies inversely with each other. It implies when price of one good increases quantity demand of the other decreases and when price of one good decreases quantity demand of the other increases. For example: Tea and Sugar, Shoe and Socks, Car and petrol etc.

The effect of change in price of complementary good can be explained under the two cases – case of tea and sugar


When price of complementary good increases

· When price of tea increases , the consumer will consume less amount of tea (due to law of demand)

· As sugar is jointly demanded with tea the demand for sugar will also decreases

· In this diagram the original demand curve of sugar is D

· Due to rise in price of tea the demand curve of sugar will shift leftward as D1
· This implies there is decrease in demand
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When price of complementary good decreases

· When price of tea decreases , the consumer will consume more amount of tea (due to law of demand)

· As sugar is jointly demanded with tea the demand for sugar will also increases

· In this diagram the original demand curve of sugar is DD1
· Due to fall in price of tea the demand curve of sugar will shift rightward as D2D3
· This implies there is increase in demand
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ELASTICITY OF DEMAND

The Law of demand which you have studied in the last chapter tells you only the direction of change in price and quantity demand of a commodity. It does not tell you about the intensity of relationship between price and quantity demand of a commodity. It is captured by the concept of “Elasticity of Demand”

PRICE ELASTICITY OF DEMAND

Meaning:

It is the degree of responsiveness of change in quantity demand of a commodity due to change in its price.

Properties:
· It is a pure number i.e. free from the unit of measurement

· It is always express with a minus(-) sign as there is inverse relationship between price and quantity demand of a commodity

· The elasticity of demand associated with a flatter demand curve is more in comparison to a steeper demand curve

Degrees of elasticity of demand:

· The extent of responsiveness of demand with change in the price is not always the same.

· The demand for a product can be elastic or inelastic, depending on the rate of change in the demand with respect to change in price of a product.

· Elastic demand is the one when the response of demand is greater with a small proportionate change in the price. On the other hand, inelastic demand is the one when there is relatively a less change in the demand with a greater change in the price.

For better understanding the concepts of elastic and inelastic demand, the price elasticity of demand has been divided into five types, which are shown in Figure-1:
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Figure-1: Differant Types of Price Elasticity of Demond




(a) Perfectly Elastic Demand:
· When a small change in price of a product causes a major change in its demand, it is said to be perfectly elastic demand. 

· In perfectly elastic demand, a small rise in price results in fall in demand to zero, while a small fall in price causes increase in demand to infinity. 

· In such a case, the demand is perfectly elastic or ep = ∞

The degree of elasticity of demand helps in defining the shape and slope of a demand curve. Therefore, the elasticity of demand can be determined by the slope of the demand curve. Flatter the slope of the demand curve, higher the elasticity of demand.

In perfectly elastic demand, the demand curve is represented as a horizontal straight line, which is shown in the following figure 2.
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· Though, perfectly elastic demand is a theoretical concept and cannot be applied in the real situation. However, it can be applied in cases, such as perfectly competitive market and homogeneity products. In such cases, the demand for a product of an organization is assumed to be perfectly elastic.
(b) Perfectly Inelastic Demand:
· A perfectly inelastic demand is one when there is no change produced in the demand of a product with change in its price. 

· The numerical value for perfectly inelastic demand is zero (ep=0).

In case of perfectly inelastic demand, demand curve is represented as a straight vertical line, which is shown in Figure-3:
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Perfectly inelastic demand is a theoretical concept and cannot be applied in a practical situation. However, in case of essential goods, such as salt, the demand does not change with change in price. Therefore, the demand for essential goods is perfectly inelastic.
(c) Relatively Elastic/Elastic Demand:
· Relatively elastic demand refers to the demand when the proportionate change produced in demand is greater than the proportionate change in price of a product. 

· The numerical value of relatively elastic demand ranges between one to infinity. (ep>1)

The demand curve of relatively elastic demand is gradually sloping, as shown in 
Figure-4:
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(d) Relatively Inelastic/Inelastic Demand:
· Relatively inelastic demand is one when the percentage change produced in demand is less than the percentage change in the price of a product. 

· The numerical value of relatively elastic demand ranges between zero to one (ep<1). Marshall has termed relatively inelastic demand as elasticity being less than unity.

The demand curve of relatively inelastic demand is rapidly sloping, as shown in Figure-5:
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(e) Unitary Elastic Demand:
· When the proportionate change in demand produces the same change in the price of the product, the demand is referred as unitary elastic demand. 

· The numerical value for unitary elastic demand is equal to one (ep=1).

· The shape of the demand curve is rectangular hyperbola

· A curve is a rectangular hyperbola when area under the curve is same at every point

Mathematically,  pq = c

The demand curve for unitary elastic demand is represented as a rectangular hyperbola, as shown in Figure-6:
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The different types of price elasticity of demand are summarized in Table-4:
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Percentage method of measuring elasticity of demand
There are basically three methods of measuring elasticity of demand

In this method elasticity of demand is measured as a ratio between change in quantity demand to change in price of a commodity

Mathematically 
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UNIT-3
PRODUCER BEHAVIOUR AND SUPPLY
PRODUCTION FUNCTION:
Production function is the technological relationship between inputs and maximum producible output.
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Note: To produce any output there is requirement of at least two inputs. A single input cannot produce any output.

PRODUCTION

The process of combining inputs to produce output is called production function.

Inputs/Factors of Production:

Factors of production used by a firm in the production of a good or services are called inputs.

Categorization of factors of production:

In any production process factors of production are divided in to four categories such as Land, Labour, Capital and entrepreneurship/organization.

On the basis of nature of inputs used in short run production inputs are divided in to two categories.

a. Variable inputs:

Those inputs whose quantity can be changed in short run. Example: labour.

Note: the quantity of variable input changed means it can be used to expand output, in other words it provides the extra inputs that a firm needs to expand short run production..as larger quantities of variable input like labour are added to fixed inputs like capital , the variable input becomes less productive.

b. Fixed inputs:

Those inputs whose quantity cannot be changed in short run. Example capital like machines, buildings etc.

Note: The quantity of fixed input cannot be changed means it cannot be used to expand output, in other words it cannot provides the extra inputs that a firm needs to expand short run production.

Types of production function:

On the basis of the nature of inputs used production function is categorized in to two types

a. Short run Production Function:

It is a production function in which at least one input used for production and under the control of the producer is variable and at least one input is fixed.

b. Long run Production Function:

It is a production function in which all inputs used for production and under the control of the producer are variable.

Note: The difference between short run and long run depends on the particular production activity. For some producers, a short run lasts a few days. For others, the short run can last for decades. Moreover, whether an input is fixed or variable depends on whether the period of analysis is the short run or long run. Hence short run or long run production function are input dimensional not time dimensional.

Concepts of Product:

Product or output is the physical quantity of goods produced by a firm by the combination of inputs.

Types:

a. Total Product(TP)/Total Physical Product (TPP)

It refers to the total physical quantity of output produced by a firm during a given period of time.


It is calculated by two ways:
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TPP = ∑MPP

b. Average Product(AP)/Average Physical Product (APP)

It refers to the Total product per unit of variable input employed.
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c. Marginal Product (MP)/Marginal Physical Product (MPP)

It refers to the addition to Total Product derived by employing an additional unit of variable input in the production process.

It is calculated by two ways:
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Table:







Diagram:

	Fixed input (land in Acre)
	Variable Input (Labour)
	TP
	MP
	AP
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	5
	0
	0
	-
	-
	

	5
	1
	10
	10
	10
	

	5
	2
	30
	20
	15
	

	5
	3
	45
	15
	15
	

	5
	4
	52
	7
	13
	

	5
	5
	55
	3
	11
	

	5
	6
	56
	1
	9.3
	

	5
	7
	56
	0
	8
	

	5
	8
	54
	-2
	6.7
	


RELAION BETWEEN TPP AND MPP:

· Both MPP is derived from TPP and TPP is derived from MPP 

MPPL = ∆TPPL/∆L    , TPPL = ∑MPPL
· When TPP rises at an increasing rate, MPP rises.

· When TPP rises at diminishing rate, MPP falls but remain positive.

· When TPP is maximum , MPP became zero

· When TPP falls, MPP become negative.

RELAION BETWEEN APP AND MPP:

· Both MPP and APP derived from TPP i.e. MPPL = ∆TPPL/∆L   , APPL = TPPL/L

· When MPP>APP, APP rises but MPP may rise or fall.

· When MPP<APP , APP falls

· When MPP=APP , APP is at maximum

· Hence MPP curve cuts the APP curve from and above at the maximum point of the later. 

LAW OF VARIABLE PROPORTIONS: “Other things remaining constant when more and more variable inputs are employed with some fixed input , initially TP increase at increasing rate (MP increases) , then at diminishing rate (MP Declines) and at last declines (MP became negative).
Assumptions:

· There is at least one variable input and one fixed input (Operated in short run)

· Technique of production remain constant

Explanation:

This law can be explained with the help of the following table and 
diagram.[image: image75.png]s
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     Explanation: This law can be explained through the following stages

  Stage-I: Increasing Returns to Factors (IRF)

· In this stage TP increase at increasing rate and MP increases

· This stage is called the stage of Increasing Returns to Factors (IRF) because the marginal product of the variable factor increases throughout this stage.
·  This stage ends at the point where the marginal product curve reaches its highest point.
· This is because the efficiency of the fixed factors increases as additional units of the variable factors are added to it
      Stage-II: (Diminishing Returns to Factors (DRF)

· In this stage, total product continues to increase but at a diminishing rate until it reaches its maximum point 
· In this stage the marginal product of labour is diminishing but remains positive. 
· This stage starts from the point where Mp curve starts declining and ends where MP is zero corresponds to the maximum point of TP curve
·  This is because the fixed factor becomes inadequate relative to the quantity of the variable factor
· This stage is important because the firm will seek to produce in this range.
      Stage- III :(Negative Returns to Factors (NRF)

· In this stage TP declines and MP became negative

· This stage starts from the point where MP became negative

· This is because the variable factor (labour) is too much relative to the fixed factor.
LAW OF DIMINISHING MARGINAL PRODUCT: Law of diminishing marginal product Sometimes referred to as variable factor proportions, law of diminishing returns states that as equal quantities of one variable factor are increased, while other factor inputs remain constant, a point is reached beyond which the addition of one more unit of the variable factor will result in a diminishing rate of return and the marginal physical product will fall.
Explanation: The reason behind the law of diminishing returns or the law of variable proportion is the following.

· As we hold one factor input fixed and keep increasing the other, the factor proportions change.

·  Initially, as we increase the amount of the variable input, the factor proportions become more and more suitable for the production and marginal product increases. 

· But after a certain level of employment, the production process becomes too crowded with the variable input and the factor proportions become less and less suitable for the production.

This law can be explained through a table and diagram

(As in the above schedule and diagram of Law of Variable Proportions)

Cost

Cost in economics is the expenditure incurred on factor and non-factor inputs of production.

Short Run Costs: -

1. Total Fixed Cost- Fixed costs (also known as supplementary costs or overhead costs) are the costs that do not change with the level of output. Examples – Rent for factory building, interest, insurance premium, salaries of permanent employees, etc. 
2. Total Variable Cost- Variable costs (or prime costs) are the costs that vary directly with the level of output. These are the expenses incurred on variable factor of production. Example- Expenses on raw materials, power and fuel, wages of casual workers, etc.
3. Total Cost –Total Cost in economics comprises of two elements: explicit cost and implicit cost. Actual money expenditure on inputs is termed as explicit cost. Estimated money value of inputs supplied by the owners of production unit, including normal profit, is termed as implicit cost. Main examples are: estimated salary of the owners, estimated interest of own money invested by the owners, estimated rent of the owner’s building, etc.  Thus in the short run TC is the sum total of TFC and TVC.

                TC = TFC + TVC

Unit Cost Curves in the Short Run[image: image77.png]1.Average Fixed Cost (AFC) —Average fixed cost
can be obtained by dividing total fixed cost (TFC)
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Average Variable Cost can be obtained by dividing the 

total variable cost (TVC) by the quantity of output (Q).

AVC=TVC/Q

Q TVC AVC

0 0 -

1 18 18

2 30 15

3 40 13.33

4 52 13

5 65 13

6 82 13.67

7 106 15.14

8 140 17.5



 EMBED PowerPoint.Slide.12 [image: image79.emf]3. Average Cost-

Average cost is obtained by dividing the total cost

(TC) by the quantity of output (Q). Thus AC is per

unit cost of production.

Diagrammatically the vertical

summation of average fixed cost and average

variable cost curves gives us the short run average

cost curve.

SAC = TC/Q

OR

SAC = AFC + AVC
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Marginal cost is the increase in the total cost resulting from

one unit increase in output. It may be called incremental cost.

Thus,

SMC= TC/ Q

SMC= TC 
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Important observations of AC, AVC & AFC
· AC curve always lie above AVC (because AC includes AVC & AFC at all levels of output).
· AVC reaches its minimum point at an output level lower than that of AC because when AVC is at its minimum AC is still falling because of fall in AFC.
· As output increases, the gap between AC and AVC curves decreases but they never intersect.
        Why is MC curve U shaped ?

The reason behind the U shape of the MC curve is the law of variable proportions. This implies that initially in the stage of increasing returns to a factor, marginal cost diminishes with the increase in the output, and then, after reaching a certain limit, in the stage of diminishing returns to a factor, marginal cost rises with further increases in the output. Thus the short run marginal cost curve becomes U shaped.

Why are AVC and AC curves U shaped ?

The shape of AVC and AC curves is influenced by the shape of MC curve in the short run. AVC and AC are U shaped because of operation of the law of variable proportion. Initially, in the stage of increasing returns when MC falls, the AVC and AC curves also falls. And after a certain level of output in the stage of diminishing returns when MC curve rises, the AVC and AC curves also rises. Thus, because of operation of law of variable proportion as output rises, the AVC and AC curves first fall, reach their minimum and then begin to rise. That is why AVC, AC and MC all are U shaped.

Important formulae at a glance

TFC = TC – TVC or TFC=AFC x output or
 TFC = TC at 0 output.
TVC = TC – TFC or TVC = AVC x output or
  TVC =∑MC
TC = TVC + TFC or TC = AC x output or 
TC = ∑ MC + TFC
MCn=TCn – TCn-1 or MCn= TVCn – TVCn-1
AFC = TFC / Output or AFC = AC-AVC or
 ATC – AVC
AVC = TVC / Output or AVC = AC-AFC
AC = TC / Output or AC=AVC + AFC
REVENUE

MEANING:-Money received by a firm from the sale of a given output in the market.
TYPES OF REVENUE:-

Total Revenue: Total sale receipts or receipts from the sale of given output.
            TR    =      Quantity sold × Price     (or)     output sold × price 
Average Revenue: Revenue or Receipt received per unit of output sold.
AR  =
TR / Output  sold
AR and price are the same.
TR  =P x Q
AR   =  P x Q / Q 
AR= price
AR and demand curve are the same. It shows the various quantities demanded at different prices. 
Marginal Revenue: Additional revenue earned by the seller by selling an additional unit of output.
 MRn = TR n -   TR n-1               
MR  =   ∆ TR / ∆ Q       (OR)  TR = ∑ MR
RELATION  BETWEEN TR AND MR

Under perfect competition, the sellers are price takers. Single price prevails in the market. Since all the goods are homogeneous and are sold at the same price AR = MR. As a result AR and MR curve will be horizontal straight line parallel to OX axis. (When price is constant or perfect competition)
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RELATION BETWEEN   AR AND MR:-

AR UNCHANGED AS OUTPUT CHANGES. IT IS BECAUSE PRICE IS 

CONSTANT. GRAPHICALLY, AR CURVE IS PARALLEL TO XAXIS. SUCH AN 

AR CURVE IS PERFECTIVELY ELASTIC DEMAND CURVE.

AS OUTPUT INCREASES THERE IS NO CHANGE IN MR. IT IS BECAUSE 

THE PRICE PER  UNIT IS UNCHANGED. GRAPHICALLY, THE MR CURVE IS 

PARALLEL TO XAXIS AND COINCIDES WITH THE AR CURVE.
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When MR is positive (MR>0), TR rises

When MR is zero(MR=0), TR is maximum

When MR becomes negative (MR<0),TR falls

How do changes in MR affect TR?

i)If MR increases, TR increases at increasing rate.

ii)If MR is constant, TR increases at constant rate.

ii)IF MR falls, TR increases at diminishing rate. 

What is MR? How is it related to AR?

MR refers to the change in TR due to sale of an additional unit. 

Relation – (i)If AR (Price) is constant, MR = AR

(ii)If AR (Price) falls, MR < AR., 

(iii)  If AR (Price) rises, MR > AR


Relationship between AR and MR under monopoly and monopolistic competition (Price changes or under imperfect competition)
 AR and MR curves will be downward sloping in both the market forms.
· AR lies above MR.
· AR can never be negative.
· AR curve is less elastic in monopoly market form because of no substitutes.
· AR curve is more elastic in monopolistic market because of the presence of substitutes
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PRODUCER’S EQUILIBRIUM
CONTENT/ GIST OF THE CHAPTER

Definition:--A producer is said to be in equilibrium when he produces that level of output at which his profit is maximum .Producer’s equilibrium is also known as profit maximization situation.

Methods for determination of Producer’s Equilibrium.

1) TR-TC  Approach

2) MR –MC Approach

*Conditions of producer’s equilibrium under MR-MC approach when price is constant.(perfect competition) :

1) MR=MC   2)  MC must be rising.

SITUATION ----1

	Output (units)
	MR (Rs)
	MC(Rs)

	1
	8
	10

	2
	8
	8

	3
	8
	7

	4
	8
	8

	5
	8
	9


According to table , both the conditions of equilibrium are satisfied at 4 units of output. MC =MR and MC rising.MC is more than MR when output is produced after 4 units of output. So producer’s equilibrium will be achieved at 4 units of output. However , MR =MC at 2 units of output also. But second condition is not fulfilled here. Let us understand Producer’s Equilibrium with the help of a diagram. Producer’s equilibrium is determined at OQ level of output corresponding to point k. As at this point MC=MR and MC cuts MR curve from below. When MR>MC at point R then producer will continue to produce as long as MR=MC , because firm will find it profitable to raise the output level. When MR< MC  above the point k then producer will cut down production as long as MR = MC ,because firm will find it unprofitable to produce an extra unit. So it 
starts reducing the level of output till MR=MC. 
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Producer’s equilibrium when price falls with a rise in output under MR-MC approach is determined where (imperfect competition):
1) MR=MC .2) MC must be rising.

SITUATION --2

When price falls with rise in output , MR curve slopes downward. Let us understand this with the help of following table.

	Units of commodity
	MR(Rs)
	MC(Rs)

	1
	10
	9

	2
	9
	7

	3
	8
	6

	4
	7
	7

	5
	6
	8

	6
	5
	9


According to the Table both the conditions of equilibrium are satisfied at 4 units of output. MC=MR and MC is rising.MC is more than MR when output is produced after 4 units of output. So producer’s equilibrium will be achieved at 4 units of output.

Let us understand the determination of equilibrium with the help of a diagram:In Figure output is shown in the X axis and revenue ,cost in the Y axis.
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Producer’s Equilibrium is determined at OM level of output corresponding to the point E, where both the conditions are satisfied. When MR>MC  then producer will continue to produce  as long as MR=MC ,because firm will find it profitable to raise the output level.

When MR< MC  above the point E then producer will cut down production as long as MR = MC ,because firm will find it unprofitable to produce an extra unit. So it starts reducing the level of output till MR=MC. So the producer is at equilibrium at OM level of output.
                                                          SUPPLY
Meaning of supply;
Supply of a commodity by a firm or seller may be defined as the quantity of a commodity that a firm or seller offers for sale at a given price during a given time period.

Factors  determining  supply  or  determinants of supply of a good:-
(i)    Price of the commodity

(ii)   Price of other related good

(iii)  Price of inputs/factors

(iv)  Taxation policy of government

(v)   Objective of the firm
(i)    Price  of  the  commodity:  Other  factors  determining  supply  remaining constant, there is a direct relationship between price and quantity supplied of a commodity. It means the quantity supplied of a commodity increases with rise in price and decreases with fall in price of the commodity. Due to this direct relationship between price and quantity supplied of   a commodity the supply curve has a positive slope. Supply curve is upward sloping to the right.

(ii)   Price of other related goods: Supply of a commodity is also influenced by the change in the price of other related goods. With the help of given resources we can produce several goods by using the same technology. For example, a farmer can produce either pulses or food grains by using the resources. If the price of  pulses  increases  it  becomes  more  profitable  for  him  to  make  more production of pulses. So he will divert some resources from the production of food grains to the production of pulses. The production of pulses will increase and that of food grains will decrease. So the supply of pulses will increase if the price of pulses increases and the supply of food grain will decrease at the same price reverse will happen if the price of food grains increases.

(iii) Price of inputs/factors: Change in the price of input slike raw material, wage, rent or interest also influences the supply of a commodity. For example, in the production of cloth, cotton is the main raw material. If the price of cotton increases, the cost of production of cloth will increase. At the same price, the margin of profit will decrease. So the producer will decrease the supply of cloth at the same price. On the other hand if the price of cotton falls, the cost of production per unit of cloth will decrease and hence the supply of cloth will increase. The price of other inputs will also influence the supply of a good in the same manner.

(iv)Technology of production: An improvement in the technology of production of a commodity decreases the per unit cost of the commodity. The margin of profit will increase at the same price. So the supply of a commodity will increase, with improvement in technology of production, at the same price. On the other hand if a firm uses absolute technology of production, the cost of production per unit of the commodity will increase. The margin of profit will decrease, so the firm will decrease its supply at the same price. This is the main reason that the firms are trying to use better technology of production because it not only reduces the cost of production per unit but also improves the quality of the product.

(v) Taxation policy of government: If the government reduces the excise duty or the production of a commodity, the cost of production per unit of the commodity will decrease, the margin of profit will increase at the same price so the producer of the commodity will increase its supply. It happens when the government wants to increase the production of the commodity. On the other  hand  to  discourage  the  production  of  some  harmful  goods,  like cigarettes, liquor etc, the government increases the rate of excise duty on the production  of  such  goods.  So, the cost of  production  per  unit  of  the commodity increases and the supply of such commodities decreases.

(vi)  Objective of the firm: The objective of the producer also influences the supply of a commodity .Generally, the objective of a producer is to maximize his profits. Profits are maximized at a higher price. So he increases the supply of a commodity at a higher price and decreases its supply at a lower price. But sometimes,theproducermaybeinmaximizinghissalesandnotinmaximizing his  profits  as  he  wants  to  capture  the  market.  In that case, he  goes  on increasing the supply so long his target is not achieved. He may increase the supply at the same price to any extent.

                                                  SUPPLY FUNCTION

When the relationship between quantity supplied and the determinants of supply is expressed mathematically in an equation, it is called a supply function. So a supply function can be expressed as:

Sn = f(Pn, Pr, Pf, T, Tr, G)

where    Sn   =  Supply of commodity n

Pn  =  Price of the commodity n

Pr  =  Price of other related goods

Pf  =  Price of inputs/factors

T  =  Technology of production

Tr  =  Government policy or tax rate

G  =  Goal or objective of the producer

                                  LAW OF SUPPLY

The law of supply depicts the relationship between price and quantity supplied of a commodity when all other determinants of supply remain constant. This law states that there is a direct relationship between price and quantity supplied of a commodity, other factors  determining  supply  remaining  constant.  It  means quantity supplied of a commodity increases with increase in price and decreases with decrease in price.

Individual and Market Supply

Individual Supply

Individual supply refers to the quantity of a commodity which an individual firm is willing to sell at a given price during a given period of time. It is related with the supply of an individual firm.

Table 19.1: Supply schedule of commodity x

              Price (Rs.)                      Quantity supplied (units)

5                                                           0

6                                                           3

7                                                           6

8                                                           9

9                                                          12

Market Supply : Market supply is the collective supply of all the firms in the market of a commodity at different prices during a given period of time. Market supply can be derived by summing up the supply of all the individual firms in the market.
Supply Schedule :
Supply schedule is a table showing different quantities of a commodity that a firm is willing to sell at different prices during a given period of time. Supply schedule can be of two types.
(i)
Individual supply schedule: When we represent a single firm, willingness to sell different quantities of a commodity at different prices during a given time period, we get individual supply schedule.

(ii)   Market  supply  schedule:  Market  supply  schedule  is  constructed  by summing up the supplies of all the individual firm at different prices during a given period of time. Amarket supply schedule is a table showing the total supply of a good by all the firms at different price during a given time period   Market  supply  schedule  can  be  explained  with  the  help  of  the following table.
Market supply schedule for sugar

	Price supplied
	Quantity supplied of sugar by firm A (kgs)          
	Quantity supplied of sugar by firm B (kgs)          
	Quantity supplied of sugar by firm C (kgs)          
	Market per kg (`)   A + B + C   

(kg)   

	25
	100
	200
	0
	300

	30
	200
	300
	100
	600

	35
	300
	400
	200
	900

	40
	400
	500
	300
	1200

	45
	500
	400
	400
	1500


Supply Curve

Supply curve is the graphical presentation of a supply schedule. It shows the quantity that all the firms in the market are willing to supply at a given price during a given time period when all other factors influencing supply remain constant. Supply curve is also of two types.
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(i)    Individual supply curve: Graphical presentation of individual supply schedule is called  individual  supply  curve.  It  shows  the  different  quantities  of  a commodity, an individual firm is willing to sell at different prices during a given time period.

(ii)   Market  supply  curve:  Market  supply  can  be  derived  by  horizontal summation of all individual supply curve: It show the different quantities of a commodity that all the firms are willing to sell at different prices during a given time period.
MOVEMENT ALONG SUPPLY CURVE AND SHIFT IN SUPPLY CURVE

All the factors determining supply of a commodity can be classified into two parts:----

I) Movement along supply curve due to change in the price of the commodity. In the law of supply, the quantity supplied of a commodity increases with increase in price and decrease with decrease in price all other determinants of supply remaining constant. These increase and decrease in supply are also termed as expansion and contraction of supply respectively .Expansion of supply is shown through an  upward  movement  along  the  same  supply  curve  on  the  other  hand contraction of supply is shown through downward movement on the same supply curve. 

Movement along the supply curve or expansion and contraction of supply can be explained with the help of the following diagram.
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In  the  above  figure  initial  price  and  quantity  supplied  are  OP  and  OQ respectively. When the price increased from OP to OP1, the quantity supplied increases from OQ to OQ1. This is shown by upward movement from point A to point B on the same supply curve. This upward movement of the same supply curve shows the expansion of supply.

On the other hand when the price falls from OP to OP2, the quantity supplied decreases from OQ to OQ2. This is shown by downward movement from point A to point C on the same supply curve. This downward movement on the same supply curve shows the contraction of supply.

We can say that change in price of the commodity leads to change in quantity supplied of the commodity. It is shown by movement on the same supply curve. Increase in quantity supplied reflects expansion of supply and decrease in quantity supplied reflects contraction of supply.

(ii) Shift in supply curve due to other factors determining supply. When there is change in factors other than the price of the commodity then either more is supplied at the same price or less supplied at the same price. In such cases, the price of the commodity remains constant but there is a change in other factors like change in the price of inputs, change in technology of production, change in price of other related goods, change in taxation policy of the government etc.

For example, there is an improvement in the technology of production of the commodity in question. It leads to decrease in per unit of cost production of the commodity. The firm is willing to sell more quantity of the commodity at the same price. So the supply other commodity increases at the same price. This increase in supply is shown by rightward shift of supply curve.

On the other hand if the firm uses inferior technology of production, the cost of production per unit of the commodity increases. The firm is willing to sell less quantity at the same price. So the supply of the commodity decreases the same price. This decrease in supply is shown by left wards hift of the supply curve.

The above case so f increase and decrease in supply can be shown with the help of the following figures.
Main factors causing increase in supply or rightward shift of supply Curve

(i) Fall in the price of other related goods

(ii) Fall in the price of inptus/factors

(iii) use of better technology in production 

(iv) Decrease in the rate of excise duty by government

(v) If  the  objective  of  producer  changes  from  profit maximization  to  sales maximization Main factors causing decrease in supply or leftward shift of supply curve

(i) Increase in the price of other related goods

(ii) Rise in the price of inputs/factors

(iii) use of inferior technology in production

(iv) Increase in the rate of excise duty by the government

(v) If the objective of the producer changes from soles maximization to profit maximization.

ELASTICITY OF SUPPLY

Elasticity of supply:-Price Elasticity of Supply measures the degree of responsiveness of change in Supply by change in price of the good. Law of Supply measures direction of relationship between price & Supply where as elasticity measures the proportional change in Supply by change in price. 
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TYPES OF ELASTICITY OF SUPPLY:- 

1) Perfectly Elastic Supply ( Ed = ∞):-When Supply of a commodity rises or falls to any extent without any change in price, the Supply for the commodity is said to be perfectly elastic. It is an imaginary situation.

lighly Elastic Supply ( Ed >1) :- When change in price leads to more proportional change in Supply, the Supply is said to be highly elastic. If the supply curve is extended to the left it will touch y axis.

2) Unitary Elastic Supply ( Ed = 1) :- When Proportional Change in Supply is equal to proportional change in price, the Supply is said to be unitary elastic. If supply curve is extended towards left it will touch origin.

3) . Inelastic Supply ( Ed< 1) :- When Proportional change in Supply is less than proportional change in price, the Supply is said to be inelastic Supply. If supply curve is extended towards left it will touch x axis.

4) Perfectly Inelastic Supply ( Ed = 0):- When the Supply for the commodity does not change as a result of change in its price, Supply is said to be perfectly in elastic.

MEASURING ELASTICITY OF SUPPLY:- There are two methods of measuring elasticity of Supply:

i) PERCENTAGE OR PROPORTIONATE METHOD:- elasticity of Supply is measured by the ratio of proportional change in Supply & proportional change in price. Symbolically,
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The absolute value of elasticity of Supply ranges from zero to infinity. 

UNIT-4
FORMS OF MARKET
Meaning: 

Market is a system where buyers and sellers come into contact for the transaction of goods and services.

Important notes:

· The term market as used in economics is quite different from the common sense understanding of a market

· In particular, it has nothing as such to do with the market place as you might tend to think

· For buying and selling commodities individuals may or may not meet each other in an actual physical location

· Interaction between buyer and seller can take place in a variety of situations such as village-chowk or a super bazar in a city or alternatively, buyers and sellers can interact with each other through telephone or internet and conduct the exchange of commodities.

Market structure: refers to number of firms operating in an industry, nature of competition between them and the nature of product.

Markets are classified on the basis of 

i) Number of sellers and buyers

ii) Nature of product

iii) Knowledge about the market and product

iv) Nature of competition among the sellers

v) Price determination in the market, etc.

Forms of market

On the basis of the above components markets may be classified as
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A. Perfect completion

Meaning: 

It is a market structure characterized by large number of buyers and sellers selling homogenous products

Features:

(i) Large number of buyers and sellers

· There are large number of buyers and sellers selling homogenous products

· Hence no individual firm can influence the market price

Implications:

· As there are large number of sellers , the share of individual firms in the market supply is very negligible

· No individual firm can influence the market price by changing the market supply

· As there are large number of buyers , the share of individual buyer in the market demand is very negligible

· No individual buyer can influence the market price by influencing the market demand

 From the above it is clear that neither the sellers can influence the market price nor the buyer It implies that firm is a price taker and it will sell the product at the price determined by the industry

(ii) Homogenous Product

· Under Perfect Competitive market the products offered for sale by al firms are homogenous i.e. identical in shape , size , colour , quality etc

· So the buyers have no specific preference to buy from a particular seller

· Hence buying of a commodity is a matter of chance not of choice

Implications:

· As the products of all firms are homogenous the buyers are not ready to pay higher price (will pay same price) for the product of each firm

· The firms also cannot charge a higher price for its product Hence it implies that there will prevail uniform price in the market

(iii) Freedom of entry and exit

· Under this market structure there is no legal or technical barrier in the entry of new firms and exit of the existing firms from the industry

· This feature ensures normal profit in long run

Implications:

· If any firm earn super normal profit in the long run new firms get attracted by it and they will enter in to the industry as there is no restrictions on the entry of new firms.

· This will increase the market supply and lowers the price which resulted in to reduction in the profit level.

· If any firm earn abnormal profit (losses) it will exit from the industry

· This will decrease the market supply and rises the price which leads to increase in the level of profit

· This will continue till all firms earn only normal profit Hence it implies that in long run all firms earn only normal profit, but in short run they may earn super normal or normal or abnormal profit

(iv) Perfect knowledge about the market

· All the buyers and sellers have perfect knowledge about the market

· This ensures uniform profit for all firms

Implications:

· All the buyers have perfect knowledge about the product market

· Hence no buyer will be ready to pay higher price for the products. So there will be uniform price in the market

· All the sellers have perfect knowledge about the factor market

· All have equal access to the technology and inputs used

· Hence all have equal cost structure

(v) No selling cost

· Selling cost refers to the cost borne by the firms for sales promotion

· These are inevitable in order to make the consumer know about their product

· As in Perfect Competitive market all the buyers are well informed about the product market there is no need of selling cist

(vi) Perfect mobility of factors

· Factors of production are perfectly mobile under this market structure

· It implies that the resources are able to switch over from one use to the other without any restriction

(vii) Absence of transportation cost

· To ensure uniform price it is assumed that the transportation cost is zero

· Otherwise the prices of identical goods will differ

(viii) Firms are price taker

· As there are large number of sellers , the share of individual firms in the market supply is very negligible

· No individual firm can influence the market price by changing the market supply

· It implies that firm is a price taker and it will sell the product at the price determined by the industry through the intersection of market demand and market supply

Demand curve under perfect competitive market:

· In a perfect competitive market each firm is able to sell any output at the price decided by the industry and it remain constant

· As the price is equal to AR and AR curve is the demand curve , so the demand curve facing a perfectly competitive firm is parallel to the output axis and have perfectly elastic demand 
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B. Monopoly

Monopoly is an extreme form of market structure. The word monopoly is derived from two Greek words-Mono and Poly. Mono means single and Poly means 'seller'. Thus monopoly means single seller. Monopoly is a form of market organization for a commodity in which there is only one single seller of the commodity.

Meaning:

It is a market structure characterized by a single seller for a product having no close substitutes

Features:
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(i) Single Seller

· Monopoly is a form of imperfect market structure where there is only one seller of a product. 
· A monopoly firm may be owned by a person, a few numbers of partners or a joint stock company. 
· The characteristic feature of single seller eliminates the distinction between the firm and the industry. A monopolist firm is itself 'the industry. 
· Under monopoly there are large numbers of buyers although the seller is one. 
· No buyer's reaction can influence the price.
Implications:

· The monopoly firm and industry are the same and individual firm have full control over the market price as it can completely influence the Market supply

· But buyers have no control over the market price

· Hence firms under monopoly market are PRICE MAKER

(ii) No close substitute

· Under monopoly a single producer produces single commodities which have no close substitute. 

· As the commodity in question has no close substitute, the monopolist is at liberty to change a price according to his own whimsy. 

· Monopoly cannot exist when there is competition.

· A firm is said, to be monopolist only when it is the single producer and supplier of the product which have no close substitute. 

· Under monopoly the cross elasticity of demand is zero. 

· Cross elasticity of demand shows a change in the demand for a good as a result of change in the price of another good.

(iii) Strong barriers to the entry into the industry exist:

· In a monopoly market there is strong barrier on the entry of new firms. 
· Monopolist faces no competition. 
· As there is one firm no other rival producers can enter the market of the same product. 
· Since the monopolist has absolute control over the production and sale of the commodity certain economic barriers are imposed on the entry of potential rivals.
(iv) Price discrimination
· From the point of view of profit a monopolist can change different prices from different consumers of his commodity. 
· This policy is known as price discrimination. He adopts the policy of price discrimination on various bases such as charging different prices from different consum​ers or fixing different prices at different places etc.
(v) Firm is a Price-Maker:
· As monopoly is a form of imperfect market organization, there is no difference between firm and industry. 
· A monopoly firm is said to be an industry. 
· Thus monopoly means the absence of competition. 
· There are strong barriers to entry into the industry. 
· As a result, seller has full control over the supply of the commodity, hence it makes the price.
Nature of demand curve:
· In case of monopoly one firm constitutes the whole industry. 

· The entire demand of the consumers for a product goes to the monopolist. 

· The monopolist face the entire market for a particular commodity.

· Since the demand curve of the individual consumer slopes downward, the monopolist faces a downward sloping demand curve.

· A monopolist can sell more of his output only at a lower price and can reduce the sale at a high price. The downward sloping demand curve expresses that the price (AR) goes on falling as sales are increased. 

· In monopoly AR curve slopes downward and MR curve lies below AR curve. 

· Demand curve under monopoly  otherwise known as average revenue curve.

[image: image107.png]



Emergence of Monopoly

(a) Intellectual Property Protection (patent Rights and Copyrights) 
· Extending intellectual property protection to a firm in the form of patents and copyrights is one way in which monopolies are created. 
· When a government does this, it is in fact giving a single firm an exclusive right to provide a particular product / service to the market. 
· Patents and copyrights work in providing owners of intellectual property with the right to act as an exclusive provider of a new product for a specific length of time. This creates a temporary monopoly in the market with regards to new products and services.
(b) Natural Monopoly: 
· A market may also become a monopoly simply because it may be more cost-effective for one firm to serve the whole market than to have several smaller firms in competition with one another. 
· A firm with virtually unlimited economies of scale is referred to as a natural monopoly. 
· Such firms become monopolies due to their position and size, which makes it impossible for new entrants in the market to compete price-wise. 
· Natural monopolies are common in industries with high fixed costs and low marginal costs of operation such as providers of television, telephone, and internet services.
       (c)   Ownership of a Key Resource
When one firm exerts sole control over a resource that is necessary for the production of a specific product, the market may become a monopoly. 

        (d) Manipulation: 

· A firm wanting to monopolize a market may engage in various types of deliberate action to exclude competitors or eliminate competition. 

· Such actions include collusion, lobbying governmental authorities, and force ( anti-competitive practices).
(f) Government Licensing :

· It means that before a firm can enter an industry, it needs to take permission from the government. 
· Licensing is used to ensure minimum standards of competency. 
· By not granting licenses to new firms, government aims to assure that only one firm operates in the market.
Monopolistic Competition:

Monopolistic competition as a market structure was first identified in the 1930s by American economist Edward Chamberlin, and English economist Joan Robinson. 

Pure monopoly and perfect competition are two extreme cases of market structure. In reality, there are markets having large number of producers competing with each other in order to sell their product in the market. Thus, there is monopoly on one hand and perfect competition on other hand. Such a mixture of monopoly and perfect competition is called as monopolistic competition. It is a case of imperfect competition. Ex-tooth paste market, soap market, etc.

Meaning: 

It is a market structure characterized by large number of firms which sells closely related but differentiated products. 

Features:

(i) Large number of Firms:

· There are large number of firms but not as large as under perfect competition.

Implications: 

· That means each firm can control its price-output policy to some extent. 

· It is assumed that any price-output policy of a firm will not get reaction from other firms that means each firm follows the independent price policy.

· Each firm has limited share in the market supply

· Hence each firm partially influence the market price

(ii) Product Differentiation:

· Another feature of the monopolistic competition is the product differentiation. 
· Product differentiation refers to a situation when the buyers of the product differentiate the product of different firms. Basically, the products of different firms are not altogether different; they are slightly different from others. Although each firm producing differentiated product has the monopoly of its own product, yet he has to face the competition. This product differentiation may be real or imaginary. Real differences are like design, material used, skill etc. whereas imaginary differences are through advertising, trade mark and so on.
· Product differentiation take place in the form of Brand Name, Size, Design ,colour, quality , after sales service etc.
Implications:

· Product differentiation create an artificial superiority in the minds of buyers about the product of a particular firm

· This induce the buyer to pay higher price even for the same of product of different firms

· This gives some monopoly power to an individual firm to influence the market price. Hence there prevails a different price for the same product.

(iii) Selling Cost

· Selling cost plays an important role in Monopolistic Competitive market

· As the buyers have no perfect knowledge about the market it is essential to make the buyers know about the product of each firm

· This persuasive way of incurring selling cost constitute a substantial part of the total cost of a firm

(iv) Freedom of entry and exit

· Like perfect competition, under monopolistic competition also, the firms can enter or exit freely. 

· The firms will enter when the existing firms are making super-normal profits. 

· With the entry of new firms, the supply would increase which would reduce the price and hence the existing firms will be left only with normal profits.

·  Similarly, if the existing firms are sustaining losses, some of the marginal firms will exit. It will reduce the supply due to which price would rise and the existing firms will be left only with normal profit. But the entry is not as easy as in Perfect Competitive Market

(v) Independent decision making
· Each firm independently sets the terms of exchange for its product.

·  The firm gives no consideration to what effect its decision may have on competitors.

· The theory is that any action will have such a negligible effect on the overall market demand that a firm can act without fear of prompting heightened competition. In other words, each firm feels free to set prices as if it were a monopoly rather than an oligopoly.

(vi) Lack of perfect knowledge

· Both buyers and sellers have no perfect knowledge about the market condition

· Persuasive advertisement creates artificial superiority in the minds of the consumer

· As a result a particular brand of a particular firm is preferred by the consumer

(vii) Non –Price Competition

· Non-price competition is a marketing strategy "in which one firm tries to distinguish its product or service from competing products on the basis of attributes like design and workmanship" 

· Non-price competition typically involves promotional expenditures (such as advertising, selling staff, the locations convenience, sales promotions, coupons, special orders, or free gifts), marketing research, new product development, and brand management costs.

· A monopolistic competitive firm is able to compete in non-price form as it deals 
Demand curve under Monopolistic Competition:

The demand curve of a monopolistic competitive market slopes downward. This means that a monopolistic firm can sell more output only by reducing its prices. While this appears to be relatively straightforward, the shape of the demand curve has several important implications for firms in a monopolistic competitive market.
· The downward slope of a monopolistically competitive demand curve signifies that the firms in this industry have market power.

· Market power allows firms to increase their prices without losing all of their customers.
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Compare Demand Curve of Monopoly and Monopolistic Competitive Firms

Under monopoly, AR and MR are different. AR refers to price, MR refers to marginal revenue. These curves are less elastic. It means for a small increase in sales (demand), the monopolist has to reduce the price to greater extent. It means revenue curves are less elastic. Fig. 15 shows less elastic AR and MR. 

Under monopolistic competition also, the revenue curves are different but in this case, the revenue curves are more elastic. It means small fall in price, will lead to big increase in demand. Fig. 14 represents AR and MR under monopolistic competition.
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Oligopoly:

Meaning:

It is a market structure characterized by few big sellers selling homogeneous or differentiated products.

Example: Automobile Industries, Steel Industries

Features:

(i) Few Firms

· In Oligopoly market there are few large firms

· Few means more than one (as case of Monopoly) and less than the number firms as in Monopolistic

· This implies that the firms very powerful in influencing the total output and sales in the market

· The number is very small due to many legal and technical barriers to entry in the form of Govt. licensing , Parent rights, control over raw materials etc.

(ii) Interdependence:

· The distinctive feature of an oligopoly is interdependence.
· Oligopolies are typically composed of a few large firms. 
· Each firm is so large that its actions affect market conditions. 
· Therefore, the competing firms will be aware of a firm's market actions and will respond appropriately. 
· This means that in contemplating a market action, a firm must take into consideration the possible reactions of all competing firms and the firm's countermoves
(iii) Price Rigidity / Non-Price Competition

Though Oligopoly firms have the power to influence the market price but they avoid price war and tends to p[rice rigidity due to the following reasons

· If one firm feels that a price increase would generates higher profits and therefore increases the price at which it sells its output , other firms do not follow. The price increase would therefore lead to a huge fall in the quantity sold by the firm leading to a fall in its revenue and profit. It is therefore not rational for any firm to increase the price.

· On the other hand, a firm may estimate that it could earn a large revenue and profit by selling a large quantity of output and therefore lowers the price. Other firms would perceive this action as a threat and therefore follow thye first firm and lower their prices as well. The increase in the total quantity sold due to lowering price is therefore shared by all firms and the firm that had initially lowered the price is able to achieve only a small increase in the quantity it sells.

(iv) Group behaviour:
· Under oligopoly, there is complete interdependence among different firms. 

· So, price and output decisions of a particular firm directly influence the competing firms. 
· Instead of independent price and output strategy, oligopoly firms prefer group decisions that will protect the interest of all the firms. 

· Group Behaviour means that firms tend to behave as if they were a single firm even though individually they retain their independence.

(v) Indeterminateness of demand curve:
· This characteristic is the direct result of the interdependence characteristic of an oligopolistic firm. 

· Mutual interdependence creates uncertainty for all the firms. 

· No firm can predict the consequence of its price-output policy. 

· Under oligopoly a firm cannot assume that its rivals will keep their price unchanged if he makes charge in its own price. As a result, the demand curve facing an oligopolistic firm losses its determinateness.

(vi) Selling Cost

· Selling cost plays an important role in Oligopoly market

· As the oligopoly firm avoid price war they promote their sales through different persuasive advertisements

Types of Oligopoly Market

Oligopoly market may be classified as 

(a) Perfect Oligopoly and Imperfect Oligopoly

(b) Collusive Oligopoly and Non-Collusive Oligopoly
Difference between Perfect Oligopoly and Imperfect Oligopoly
	Basis
	Perfect oligopoly
	Imperfect Oligopoly

	Meaning
	Those oligopoly firms which sells homogeneous products are called Perfect Oligopoly
	Those oligopoly firms which sells differentiated products are called Perfect Oligopoly

	Nature of Products sold
	Homogeneous
	Differentiated

	Other name
	Pure Oligopoly
	Impure or differentiated Oligopoly

	Example
	Steel Industries in India
	Automobile Industries in India


PRICE DETERMINATION UNDER PERFECT COMPETITION

Key Points:

· Under perfect competition equilibrium price and quantity is determined by the interaction of market demand and market supply curve of a commodity

· Market equilibrium is a situation when market supply curve and market demand curve of a commodity intersect each other

· Equilibrium price is the price which is determined by the equality of market demand and market supply of a commodity

· Equilibrium quantity is the quantity which is determined by the equality of market demand and market supply of a commodity

· Market Price is the price prevailed in the market

Determination of market equilibrium

Market equilibrium is determined by the equality of market demand and market supply of a commodity. This can be explained with the help of the following table and diagram

	Price
	Market Demand
	Market Supply
	Shortage (-) or Surplus (+)
	Remarks

	2
	100
	20
	(-) 80
	Excess Demand                     (Market Demand > Market Supply)

	4
	80
	40
	(-)40
	

	6
	60
	60
	0
	Equilibrium (Market Demand = Market Supply)

	8
	40
	80
	(+)40
	Excess Supply                      (Market Supply > Market Demand)

	10
	20
	100
	(+) 80
	


· In this table market equilibrium is achieved when demand = supply = 60 at price 6

· When price is less than 6 , there arise situation of excess demand

· When price is more than 6 there arises situation of excess supply.

· In the diagram demand curve and supply curve are SS and D0D0 respectively.

· Both intersect at point E0 and this is called the point of equilibrium.

· Accordingly the equilibrium price is Op0 and equilibrium quantity is OQ0
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EXCESS  DEMAND

· It is a situation in which market demand is greater than market supply

· This situation arises when market price is below the equilibrium price

Chain Effect:

This can be explained through the following diagram
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· In this diagram equilibrium price is OP which is determined by the equality of demand and supply curve at point E

· When market price is OP1 there arises Excess demand of AB

· Due to excess demand there is competition among the buyers which leads the price to increase

· As price increases there is contraction in demand , so there is upward movement along the demand curve as shown by the arrow mark

· At the same time due to increase in price , there is extension in supply, so there is upward movement along the supply curve as shown by the arrow mark

· This action and reaction between the buyer and seller will continue till both demand and supply are equal at point E and equilibrium is restored 

EXCESS  SUPPLY

· It is a situation in which market supply is greater than market demand

· This situation arises when market price is above the equilibrium price

Chain Effect:

This can be explained through the following diagram
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· In this diagram equilibrium price is OP which is determined by the equality of demand and supply curve at point E

· When market price is OP1 there arises Excess supply of AB

· Due to excess supply there is competition among the sellers which leads the price to decrease

· As price decreases there is contraction in supply , so there is down ward movement along the supply curve as shown by the arrow mark

· At the same time due to decrease in price , there is extension in demand, so there is down ward movement along the demand curve as shown by the arrow mark

· This action and reaction between the buyer and seller will continue till both demand and supply are equal at point E and equilibrium is restored 

CHANGE IN EQUILIBRIUM PRICE AND QUANTITY

Equilibrium price and quantity will be changed due to change in either demand or supply or change in both. All these cases may be discussed below.

(a) When Market Demand increases and Market Supply remain constant

This can be explained through the following diagram

                             [image: image113.png]Y4

o Q Q Q
Quantity (unit)

Diagram showing situation of excess
demand




· In this diagram market demand curve and supply curve are DD and SS respectively

· Both intersect at point E and E is called the point of equilibrium

· Accordingly the equilibrium price is OP and quantity is OQ

· When demand increase the new demand curve shifts right ward as D1D1 and new equilibrium is E1 and new equilibrium price is OP1 and quantity is OQ1

· So equilibrium price and quantity both increases

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Supply constant & Demand Increases
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Increases
	increases


Chain Effects:

· In this diagram market demand curve and supply curve are DD and SS respectively

· Both intersect at point E and E is called the point of equilibrium

· Accordingly the equilibrium price is OP and quantity is OQ

· When demand increase the new demand curve shifts right ward as D1D1 

· At the prevailing price there is excess demand

· Due to excess demand there is competition among the buyers which leads the price to increase

· As price increases there is contraction in demand , so there is upward movement along the demand curve as shown by the arrow mark

· At the same time due to increase in price , there is extension in supply, so there is upward movement along the supply curve as shown by the arrow mark

· This action and reaction between the buyer and seller will continue till both demand and supply are equal at point E1 and equilibrium is restored 

· At the same time equilibrium price and quantity both will increase

(b) When Market Demand decreases and Market Supply remain constant

This can be explained through the following diagram
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· In this diagram market demand curve and supply curve are DD and SS respectively

· Both intersect at point E and E is called the point of equilibrium

· Accordingly the equilibrium price is OP and quantity is OQ

· When demand decrease the new demand curve shifts left ward as D1D1 and new equilibrium is E1 and new equilibrium price is OP1 and quantity is OQ1

· So equilibrium price and quantity both decreases

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Supply constant & Demand decreases
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Decreases
	Increases


Chain Effects:

· In this diagram market demand curve and supply curve are DD and SS respectively

· Both intersect at point E and E is called the point of equilibrium

· Accordingly the equilibrium price is OP and quantity is OQ

· When demand decrease the new demand curve shifts left ward as D1D1 

· At the prevailing price there is excess supply

· Due to excess supply there is competition among the sellers which leads the price to decrease

· As price decreases there is contraction in supply , so there is down ward movement along the supply curve as shown by the arrow mark

· At the same time due to decrease in price , there is extension in demand, so there is down ward movement along the demand curve as shown by the arrow mark

· This action and reaction between the buyer and seller will continue till both demand and supply are equal at point E and equilibrium is restored 
(c) When Market Supply increases and Market demand remain constant

This can be explained through the following diagram
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· In this diagram market demand curve and supply curve are DD and SS respectively

· Both intersect at point A and A is called the point of equilibrium

· Accordingly the equilibrium price is OP and quantity is OQ

· When supply increase the new supply curve shifts right ward as S1S1 and new equilibrium is C and new equilibrium price is OP1 and quantity is OQ1

· So equilibrium price will decrease and quantity increase

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Demand constant & Supply increases
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Decreases
	Increases


Chain Effects:

· In this diagram market demand curve and supply curve are DD and SS respectively

· Both intersect at point A and A is called the point of equilibrium

· Accordingly the equilibrium price is OP and quantity is OQ

· When supply increase the new supply curve shifts right ward as S1S1 

· At the prevailing price there is excess supply of AB

· Due to excess supply there is competition among the sellers which leads the price to decrease

· As price decreases there is contraction in supply , so there is down ward movement along the supply curve as shown by the arrow mark

· At the same time due to decrease in price , there is extension in demand, so there is down ward movement along the demand curve as shown by the arrow mark

· This action and reaction between the buyer and seller will continue till both demand and supply are equal at point E and equilibrium is restored 

(d) When Market Supply decreases and Market demand remain constant

This can be explained through the following diagram
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· In this diagram market demand curve and supply curve are DD and SS respectively

· Both intersect at point E and E is called the point of equilibrium

· Accordingly the equilibrium price is OP and quantity is OQ

· When supply decrease the new supply curve shifts left ward as S1S1 and new equilibrium is E1 and new equilibrium price is OP1 and quantity is OQ1

· So equilibrium price will increase and quantity decrease
Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Demand constant & Supply increases
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Increases
	Decreases


Chain Effects:

· In this diagram market demand curve and supply curve are DD and SS respectively

· Both intersect at point E and E is called the point of equilibrium

· Accordingly the equilibrium price is OP and quantity is OQ

· When supply increase the new supply curve shifts left ward as S1S1 

· At the prevailing price there is excess demand 

· Due to excess demand there is competition among the buyers which leads the price to increase

· As price increases there is contraction in demand , so there is upward movement along the demand curve as shown by the arrow mark

· At the same time due to increase in price , there is extension in supply, so there is upward movement along the supply curve as shown by the arrow mark

· This action and reaction between the buyer and seller will continue till both demand and supply are equal at point E1 and equilibrium is restored 

· At the same time equilibrium price and quantity both will increase

SIMULTANEOUS CHANGE IN BOTH DEMAND AND SUPPLY

When there is simultaneous change in both demand and supply there may be different possibilities

(A) Both demand and supply increases

When both increases there are three possibilities

(i) Increase in demand > Increase in Supply
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· In this diagram market demand curve and supply curve are DD and SS respectively

· Both intersect at point E and E is called the point of equilibrium

· Accordingly the equilibrium price is OP and quantity is OQ

· When demand and supply both increases and increase in demand is more than increase in supply the new demand and supply curve are D1D1 and S1S1 respectively and both intersect at point E1 and new equilibrium is at E1

· Accordingly the new equilibrium price is OP1 and quantity is OQ1

· Hence both price and quantity will increase

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Increase in Demand > Increase in supply
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Increases
	Increases


(ii) Increase in demand < Increase in Supply
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Case may be explained as of above

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Increase in Demand < Increase in supply
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Decreases
	Increases


(i) Increase in demand = Increase in Supply
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Case may be explained as of above

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Increase in Demand  = Increase in supply
	Original
	OP
	OQ

	
	New
	OP
	OQ1

	
	Net Effect
	Remain Constant
	Increases


(B) Both demand & Supply Decreases

When both decreases there are three possibilities

(i) Decrease in demand > Decrease in Supply
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Case may be explained as of above

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Decrease in Demand > Decrease in supply
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Decreases
	Decreases


(ii) Decrease in demand < Decrease in Supply
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Case may be explained as of above

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Decrease in Demand < Decrease in supply
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Increases
	Decreases


(iii) Decrease in demand = Decrease in Supply
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Case may be explained as of above

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Decrease in Demand = Decrease in supply
	Original
	OP
	OQ

	
	New
	OP
	OQ1

	
	Net Effect
	Remain Constant
	Decreases


 (c )Demand Increases and Supply Decreases

There are three possibilities

(i) Increase in Demand > Decrease in Supply
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Case may be explained as of above
Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Increase in Demand > Decrease in supply
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Increases
	Increases


(ii) Increase in Demand < Decrease in Supply
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Case may be explained as of above

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Increase in Demand < Decrease in supply
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Increases
	Decreases


(iii) Increase in Demand = Decrease in Supply
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Case may be explained as of above

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Increase in Demand = Decrease in supply
	Original
	OP
	OQ

	
	New
	OP1
	OQ

	
	Net Effect
	Increases
	Remain Constant


. (D) Demand Decreases and Supply Increases
There are three possibilities
(i) Decrease in Demand > Increase in Supply
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Case may be explained as of above

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Decrease in Demand > Increase in supply
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Increases
	Increases


(ii) Decrease in Demand < Increase in Supply

Case may be explained as of above

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Decrease in Demand < Increase in supply
	Original
	OP
	OQ

	
	New
	OP1
	OQ1

	
	Net Effect
	Decreases
	Increases


(iii) Decrease in Demand = Increase in Supply
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Case may be explained as of above

Effect Box

	Change in Factor
	Effects

	
	
	Equilibrium Price
	Equilibrium Quantity

	Decrease in Demand = Increase in supply
	Original
	OP
	OQ

	
	New
	OP1
	OQ

	
	Net Effect
	Decreases
	Remain Constant


UNIT-5
NATIONAL INCOME

National Income – The money value of all the final goods and services produced by normal residents of a country during a financial year is called national income. 

Features of National Income – 

1. National Income always takes the monetary value which can be obtained by multiplying quantity of commodity by their respective prices. 

2.  It includes only the value of final good. The value of intermediate goods is not taken into consideration. 

3. It includes only factor income, transfer income is not included in it. 

4.  It is a flow variable as it is measured during a period of one year. 

5.  It is always measured during a financial year i.e. from 1 April to 31 March. 

Consumption Goods- The goods which are purchased by consumer to satisfy their wants are called consumption goods. These goods satisfy human wants directly such as pen, pencil, bread, butter etc. These goods can be further divided into following categories- Durable Goods: These are the goods which can be used again and again in consumption over a long period of time. Such as T.V., Computer, Fan etc. Semi-durable Goods: The goods which can be use for limited period of time are known as Semi durable Goods. These goods have a life span of around one year. Such as clothes, crockery, shoes etc. Non-durable Goods: The goods which are used up in a single act of consumption are called non durable Goods or perishable good. Services –Services are produced and consumed simultaneously; it means there is no time gap between their production and consumption. These are rendered for direct consumption. Such as services of doctor, teacher etc. Capital goods - The goods which help in production of other goods and services and added in the capital stock of a country at the end of an accounting year are called capital goods. It includes durable goods like car, fridge, road etc. Stock of semi finished, finished goods and raw material are also part of it.
 Stock and flow variable 

Stock -The economic variables that are measured at a particular point of time are called stock variables. Stock is static concept. It has no time dimensions. E.g. bank balance as on 1st Oct 2011 is 5000. 

Flow-The economic variables that are measured during a period of time are called flow variables. Flow is a dynamic concept. It has time dimensions. E.g. Interest earned on bank deposits for 1 year, i.e. from 1st April 2011 to 31st March 2012. 

Difference between Intermediate Goods and Final Goods

	 Sl. 
	Intermediate Goods 
	Final Goods 

	i 
	The goods which are purchased 

for resale or further production are called Intermediate goods. 
	The goods which are meant for final consumption and investment are called final goods. 

	ii 
	These goods lie within the 

production boundary so further value can be added in these good. 
	These goods lie out of the production boundary so further value cannot be added in these goods. 

	iii 
	These goods are not included in 

estimation of national income. 
	These goods are included in estimation of national income. 


Investment or Capital Formation- 
The addition in the capital stock of a country is called investment or capital formation. E.g. - Construction of building, purchase of machinery, addition to the inventories of goods etc.

Investment can be of two types1-

1.Gross Investment: The total addition made to the capital stock of economy in a given period is termed as gross investment. It consists fixed assets and unsold stock.

2.Net Investment: The actual addition made to the capital stock of economy in a given period of time is called net investment. It can be obtained by subtracting depreciation or consumption of fixed capital from gross investment.

Net Investment = Gross Investment – Depreciation

6.What do you mean by circular flow of income? Briefly explain its various types.

Ans: - Circular flow of income- The flow of income among different sectors of the economy is called circular flow of income.

Circular flow is of two types: money flow and real flow

Money flow – It refers to the flow of money in the form of factor payment and consumption expenditure.

In other words money flow refers to the flow of factor payments from firms to household for their factor services and corresponding flow of consumption   expenditure from household to firm for purchase of goods and services produced by the firms. It is also called nominal flow.

· Payment for factor services

· Household Firms

· Payment for goods & services

Real flow- It refers to the flow of factor services from household to firms and the corresponding flow of goods and services from firms to households. It is also known as product flow.

· Goods & services

· Household Firms

· Factor services

7. Briefly explain the production method of measuring national income.

Ans: - Production Method: This method measures the national income by taking the value of final goods and services produced by the different industrial sectors of the economy.

Steps of Measurement:

i) Classify all the production units- It means grouping production units into different sectors in the domestic (or economic) territory. The production units are classified into primary, secondary and tertiary sectors.

ii) Estimate NVAFC of each industrial sector by taking the following sub-steps-

(A) Estimate gross value of output: Gross value of output (GVO) is the total worth of goods produced .It can be estimated in two ways:

(a) As sum of sales and net addition to stocks

Value of output = Sales + change in stock

Where, Change in stock = Closing stock – Opening stock

(b) Quantity of output multiplied by price.

Value of output = Price × Quantity

(B) Estimate value of intermediate consumption and deduct the same from gross value of output (GVO) to arrive at GVAMP.

Gross value added (GVAMP) = GVO - Intermediate consumption

(C) Estimate consumption of fixed capital (depreciation) and deduct it from

GVAMP to arrive at NVAMP.

NVAMP = GVAMP - consumption of fixed capital (depreciation)

(D) Find out net indirect tax by subtracting subsidies from indirect taxes    (NIT= indirect tax – Subsidies) and deduct it from NVAMP to arrive at NVAFC of an industrial sector.

NVA FC = NVAMP – Net Indirect Tax (NIT)

iii)Take the sum of NVA FC of all the production units of all the industrial sectors of the economy to get NDPFC.

NDPFC =Σ NVA FC

iv) Estimate net factor income from abroad and add the same to NDPFC to get the NNP FC or national income.

NNP FC (N.I) = NDP FC + Net factor income from abroad (NFIFA)

Precautions : While estimating national income by the production method / value added method the following precautions must be taken:

i) Avoid double counting of output.

ii) Value of own-account production should be included in total output.

iii) The value of intermediate goods should not be included.

iv) Do not include sale of second hand goods.

8. Briefly explain the income method of measuring national income.

Ans: -Income Method:-This method is also called income distribution method, because in this method we measure the factor incomes paid out (i.e., distributed) to the owners of factors of production by the various industrial sectors of the economy.

Steps in Measurement

i) Classify all the production units - It means grouping production units into different sectors in the domestic (or economic) territory. The production units are classified into primary, secondary and tertiary sectors.

ii) Estimate domestic factor income by each industrial sector: -There are three components of domestic factor income— compensation of employees, operating surplus and mixed income of the self-employed.

a) Compensation of employees refers to all payments by producers to their employees  in the form of wages and salaries both in cash and kind. It also includes social security contributions such as pension, provident fund, gratuity etc.

b) Operating Surplus is the sum of income from property (interest and rent) and income from entrepreneurship (profits = dividend, corporate tax, and undistributed profits). Thus, it is the sum of interest, rent and profits.

Operating Surplus = Rent + Interest + Profits

c) Mixed income of the self-employed is the income earned by self-employed people like doctors, lawyers, chartered accountants, cobblers, barbers, shopkeepers, farmers etc. A part of their income is wage income and another part is property income. Thus it is called mixed income.

NVAFC = COE +OS+MI

iii) Estimation of NDPFC: Take the sum of NVAFC i.e., the factor incomes of all the industrial sectors to arrive at NDPFC

NDPFC=∑ NVAFC

Iv ) Estimation of NNPFC - Add net factor income from abroad (NFIA) to NDPFC to get NNPFC or National Income.

NNPFC (National Income) = NDPFC + NFIA

Precautions-The following precautions are required to be taken while estimating national income by the expenditure method:

4) The imputed value of factor services rendered by the owners of production units should be included in NI.

ii) Do not include any transfer incomes.

iii) Do not include income from sale of second hand goods.

iv)  Do not include income arising from the sale of financial assets.

v) Do not include income from illegal sources.

9. Briefly explain Expenditure Method of measuring national income.

Ans:-Expenditure Method- In expenditure method we measure the expenditures incurred on final goods and services produced by production units located within the domestic (economic) territory of a country during a given year.

Steps of Measurement -

i) Identify and classify production units: Classify all the production units into primary, secondary and tertiary sectors.

ii) Estimate final expenditure on goods and services produced by these industrial sectors. These final expenditures are categorized as follows:

a) Private final consumption expenditure (PFCE) - It is the expenditure of household and non-profit making institutions serving households for durable goods (T.V., Fan etc.), semi-durable goods (clothes, shoes etc.) and non-durable goods (vegetable, bread etc.).

b) Government’s final consumption expenditure (GFCE) - It is the expenditure incurred by government on the purchase of goods and services which are needed to provide facilities to the general public, such as, expenditure on road, school, bridge, hospital etc.

c) Gross domestic capital formation (GDCF) - It refers to the expenditure incurred on the purchase of capital goods, such as plant, equipments, buildings, machine etc. It has two parts- Gross Domestic Fixed Capital

Formation (GDFCF) and Inventory Investment or Change in Stock.

d) Net exports (X-M) - It is the difference between exports of goods & services and imports of goods & services during the given period of time. It refers to the demand of foreigners for our goods & services over domestic demand for foreign countries’ goods & services.

iii) Estimation of GDPMP - The sum of these final expenditures is GDPMP

GDPMP =PFCE + GFCE + GDCF + Net Exports

iv)   Estimation of NDPFC - Estimate the consumption of fixed capital

(Depreciation) and net indirect taxes and deduct these from GDPMP to get NDPFC.
NDPFC=GDPMP – Consumption of fixed capital (CFC) – Net indirect tax (NIT)

v) Estimation of NNPFC- Add net factor income from abroad (NFIA) to NDPFC to get               

        NNPFC or National Income.

        NNPFC (National Income) =NDPFC + NFIA

Precautions:-The following precautions are required to be taken while estimating national income by the expenditure method:

i) Do not include expenditure on intermediate goods and services.

ii) Include imputed expenditure on self-consumed or own account produced output used for consumption and investment.

iii) Do not include expenditure on transfer payments.

iv) Do not include expenditure on financial assets such as share, bond, debenture etc.

v) Do not include expenditure on purchase of second hand goods.

10. Explain the following concepts)

a) Sectors of economy

b) Injection

c) Withdrawal

d) Double Counting

e) Depreciation

Ans: -

a) Different sectors of economy - There are three sectors of the economy

i) Primary sector- It includes all those production units which exploit natural resources for production. Such as Agriculture, mining, quarrying etc.

ii) Secondary sector- It includes all those production units which transform one good in to another. Such as Industries, construction etc.

iii) Tertiary sector- It includes all those production units which provide services. Such as banking, insurance, transport, communication etc.

b) Injection: The amount of money which is added in the circular flow of income is called injection. Injections increase the speed of flow of income. Some examples of injections are investment (I), government expenditure (G) and export (X).

c) Withdrawal: The amount of money which is taken out from the circular flow of income is called withdrawal. Withdrawals decrease the speed of flow of income. Some examples of withdrawals are savings (S), taxes (T) and import (M).

d) Double Counting – If the value of an item is estimated more than one time in estimation of national income is called double counting. It leads to over estimation of national income.

It can be avoided by two ways

i) By taking the value added by each enterprise

ii) By taking the value of final product

e) Depreciation: The reduction in the value of capital assets due to normal wear and tear is called depreciation. These are the foreseen losses so cannot be insured. It is also called consumption of fixed capital. Whenever we subtract net value from the gross value we get depreciation.

Depreciation = Gross – Net

11. Distinguish between domestic product and national product.

Ans: - Difference between domestic product and national product
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12. When will the domestic income be greater than the national income?

Ans: - If net factor income from abroad (NFIFA) is negative.

b) Why are net exports (X-M) a part of domestic income, and not a part of NFIFA?

Ans: - Exports are goods produced within the domestic territory so treated as a part of domestic income.

13. Will the following factor incomes be included in domestic factor income of India? Give reasons for your answer.

(i) Compensation of employees to the residents of Japan working in Indian embassy in Japan.

(ii) Profits earned by a branch of foreign bank in India.

(iii) Rent received by an Indian resident from Russian embassy in India.

(iv)  Profits earned by a branch of State Bank of India in England.

Ans : - (i) Yes, It will be included in domestic factor income of India because the Indian embassy in Japan is a part of domestic territory of India.

(ii) Yes, It will be included in domestic factor income of India because the foreign bank is located in the domestic territory of India.

(iii) No, It will not be included in domestic factor income of India because Russian embassy in India is not a part of domestic territory of India.

(iv)  No, It will not be included in domestic factor income of India because branch of State Bank of India which is earning profit is in England which is not a part of domestic territory of India.

14. What is meant by gross domestic product? Explain any three limitations of gross domestic product as a measure of economic welfare.

Ans :- Gross domestic product (GDP) refers to the money value of all then final goods and services produced with in domestic territory of a country during a financial year inclusive of consumption of fixed capital or depreciation. Welfare means sense of material well  being among the people. This depends upon greater availability of goods and services. So it may be concluded that higher level of GDP is an index of greater well being of people. But this generalisation is not correct due to some limitations.

15.Limitations of GDP as a measure of economic welfare.

Distribution of GDP- If with increase in GDP inequality of income increase ,poor become poorer while rich become richer. This may lead to decline in welfare even though GDP has increased.

ii) Non-monetary transactions- GDP remains underestimated as non-monetary transactions like services of housewife, barter exchanges, enjoyment from hobbies like gardening, painting etc. are not included in GDP. Although they increase economic welfare.

iii) Composition of GDP- If GDP increases due to more production of war goods like weapons, tanks etc. it will not increase economic welfare.

iv) Externalities- Externalities refer to the benefits (or harms) a firm or an individual causes to another for which they are not paid (or penalized). Externalities do not have any market in which they can be bought and sold. Such as carrying out the production of refinery may also be polluting the nearby river and create pollution. This may cause harm to the people who use the water of the river. Such harmful effects that the refinery is inflicting on others, for which it does not have to bear any cost, are called externalities.

Therefore, if we take GDP as a measure of welfare of the economy we shall be overestimating the actual welfare. This was an example of negative externality. There can be cases of positive externalities as well. In such cases GDP will underestimate the actual welfare of the economy.

UNIT 6

MONEY & BANKING
Money :-

Money occupies a unique position in modern economy. In its absence the whole prosperous economic life would collapse like a pack of cards.

Barter system of exchange :-

Barter system of exchange is the system in which commodities are exchanged for commodities. This is also called commodity for commodity exchange economy.

Difficulties of Barter System of Exchange :-

i. It lacks double coincidence of wants.

ii. It lacks a common unit of exchange.

iii. It lacks the system of future payments or deferred payments.

iv. It lacks the system of store of value.

Definition of Money :-

Legal Definition :- Money is anything declared by law as money Functional Definition :- Money is anything that acts as a medium of exchange, measure of value, store of value and standard for deferred payments.

Classification of Money :- It is classified on the basis of value of money as money and value of money as commodity as following :-

1. Full bodied money.

2. Representative full bodied money.

3. Credit money.

Functions of Money :- 

‘ Money is matter of functions four, a medium, A measure, A standard and a store, as this does not complete the picture, we may add transferability more’ Functions of money are classified into following three categories:-

1) Primary or main function.

2) Secondary or subsidiary functions.

3) Contingent functions.

1)  Primary or main functions:-

A. Medium of exchange:- It means that money acts as an intermediary  for the goods and services in an exchange transaction.

B. Measure of value or unit of value:- Money serves as a measure of value in terms of unit of account. Unit of account means that the value of each good or service is measured in the monetary unit.

2)  Secondary or subsidiary functions:-

     A. Standard of deferred payments:- Money is functioning as  deferred    

         Payments  because its price remains relatively stable. 

B. Store of value:- It is convenient to store value in terms of money because storage of money does not need much spaceIndian Monetary System:- It is based on paper currency standard. Currency is issued in India by RBI based on minimum reserve system. Currency issued in India is inconvertible. The issuing authority will not convert it into bullion – gold or silver.

Money Supply:- The supply of money means the total stock of all the forms of money       (Paper money, Coins and Bank deposits). Which are held by the public at any particular point of time. In India RBI uses four alternative measures of money supply called as M1, M2, M3, M4.
BANKING
Commercial Banks :- Banking is defined as the accepting for the purpose of landing or investment of deposits money from the public, repayable on demand or otherwise. 

Functions of commercial Banks:-

i) Primary functions

A) Acceptance of deposits :- The bank accepts three types of deposits from the public 1) Current account deposits 2) Fixed/term deposit 3) Saving account deposits.

B) Advancing Loans :- The different types of loans and advances made by banks are as follows – cash credit, demand loans, and short term loans and over draft.

C) Credit Creation :- Banks create credit by giving more loan than their cash reserves.

ii) Secondary function:-

A) Agency functions :-

1) Transfer of funds

2) Collection of funds

3) Purchase and sale of securities.

4) Collection of dividends

5) Payment of bills & insurance

6) Acting as executors and trustees of wills.

7) Acceptance of income tax payment

8) Acting as correspondent and agent of customers.

B) General utility services:-

1) Locker facilities

2) Travellers cheque and letters of credit

3) Business information and statistics

4) Help in transportation of goods

iii) Social functions :- 1) Capital formation 2) Inducement to innovations 3)    

    Development of rural sector 4) Increasing market demand   

         5) Implementation of monetary policy.

Central Bank :- The central bank is the apex institution of a country’s monetary system. The design and control of the country’s monetary policy is its main responsibility. India’s central bank is the Reserve Bank of India.

Functions of Central Bank :-

1) Currency Authority :- The central Bank is the sole authority for the issue of currency in the country. All the currency issued by the central bank is its monetary liability. This means that the central bank is obliged to back the currency with assets of equal value. 

2) Banker to the government :- The central bank acts as a banker to the government both central as well as state governments. It carries out all the banking business of the government and the government keeps its cash balances on current account with the central bank.

3) Bankers Bank and supervisor :- As the banker to banks , the Central Bank holds a part of the cash reserves of banks, lends them short term funds and provides them with centralized clearing and remittance facilities.

4) Controller of Money Supply and Credit :- The Central Bank controls the money supply and credit in the best interests of the economy by various instruments as quantitative and qualitative instruments.

I) Quantitative Instrument :- A. Bank Rate Policy:- The bank rate is the rate at which the Central Bank lends funds as a lender of last resort to banks against approved securities or eligible bills of exchange. 

B. Open Market Operations:- Open market operations is the buying and selling of government securities by the central bank from/to the public and banks on its own account. The sale of government securities to banks will have the effect of reducing their reserves.

C. Varying Reserve Requirements :- Banks are obliged to maintain reserves with the central bank on two accounts. One is the cash reserve ratio and the other is Statutory Liquidity Ratio. Varing CRR and SLR are tools of monetary and credit control.

 II) qualitative Credit Control :- A) Imposing margin requirement on secured loans:- A margin is the difference between the amount of the loan and market value of the security offered by the borrower against the loan. The advantages of this instrument are manifold.

B) Moral Suasion :- This is a combination of persuasion and pressure that the Central Bank applies on the other banks in order to get them to fall in line with its policy.

C) Selective credit controls :- These can be applied in both a positive as well as a negative manner.

Very Short Question /Answer

Q1.  Define a Bank

Ans. Bank is an institution which borrows and lends money. 

Q2. Write the one main function of bank in an economy.

Ans. One main function of bank in an economy is – Acceptance of  deposits :- The bank accepts three types of deposits from the public  1) Current account deposits 2) Fixed/term deposit 3) Saving account deposits.

Q3.  Define Central Bank. Write the name of Central Bank of India.

Ans. Central Bank designs and controls the monetary policy of the country. The name of Central Bank is Reserve Bank of India.

Q4.  Why are all financial institutions not commercial bank?

Ans. A financial institution becomes a commercial bank only when it performs both the activities of a) Accepting deposits from the people and b) Making loan to the people.

Q5. Which institution is responsible for the monetary policy of the country?

Ans. The Central bank is responsible for the monetary policy of the Country.

Q6.  Write two Social functions of the Commercial bank.

Ans. 1) Capital formation 2) Development of rural sector.

Q7.  Name the institution which issued the currency notes of the country.
Ans. The Central Bank(Reserve Bank of India) issues the currency notes of the country.

Short Question Answer
Q1  Write the main functions of the Commercial Bank.

Ans. The main functions of the Commercial bank are:-

 A) Acceptance of deposits :- The bank accepts three types of  deposits from the public 1) Current account deposits 2) Fixed/term  deposit 3) Saving account deposits.
 B) Advancing Loans :- The different types of loans and advances  made by banks are as follows – cash credit, demand loans, and short  term loans and over draft.

(C)Credit Creation :- Banks create credit by giving more loan than  their cash reserves.

Q2.  Write the functions of Central Bank.

Ans. 1) Currency Authority 2) Banker to the government

        3) Bankers Bank and supervisor 

        4) Controller of Money Supply and Credit
Q3.  What is the meaning of Banking?

Ans. Banking is defined as the accepting for the purpose of landing or investment of deposits.

Q4. Write the six agency function of the Commercial Bank.

Ans. 

 Agency functions :-

       1)  Transfer of funds

2)  Collection of funds

3)  Purchase and sale of securities.

4)  Collection of dividends

5)  Payment of bills & insurance

6) Acting as executors and trustees of wills.

Q5.  How the Bank rate control the credit?

Ans. Bank rate is the rate of interest at which Central bank lends to Commercial  banks. By raising the bank rate central bank raises the  cost of borrowing. This forces the Commercial banks to raise in turn the rate of interest from the public. As lending rate rises demand for loan for investment and other purposes falls. 

Long Question Answer:-
Q1.  Which are the Quantitative instrument to control the money supply

         and credit in the economy?

Ans.  The Quantitative instrument to control the money supply and credit in the economy are 
1) Bank Rate policy – the bank rate is the rate at   which the control bank lends funds as a lender of last resort to banks against approved securities. 
 2) Open market operation :- Open market operation is the buying and selling of government securities by the Central Bank from/to the public and bank on its own account. 

 3) Varying Reserve Requirements :- Banks are obliged to maintain reserves with the Central bank on two account. One is the cash reserve ratio and the other is  Statutory Liquidity Ratio. Varing  CRR and SLR are tools of monetary and credit control. 

Q2. Write the Qualitative instruments to control the credit of the
       Central Bank.

Ans. The Qualitative instruments to control the credit of the Central Banks are :-

  A) Imposing margin requirement on secured loans:- A margin is the difference between the amount of the loan and market value of the security offered by the borrower against the loan. 

 B) Moral Suasion :- This is a combination of persuasion and pressure that the Central Bank applies on the other banks in order to get them to fall in line with its policy.

C) Selective credit controls :- These can be applied in both a positive as well as a negative manner.

Q3.  Write the two function of each Central Bank and Commercial Bank.

Ans. Function of Central Bank :-       
 1) Currency Authority :- The central Bank is the sole authority for  the issue of currency in the country. All the currency issued by the central bank is its monetary liability. This means that the central bank is obliged to back the currency with assets of equal value.            
2) Banker to the government :- The central bank acts as a banker to  the government both central as well as state governments. It  carries out all the banking business of the government and the government keeps its cash balances on current account with the central bank.

          Functions of the Commercial Bank:-
A) Acceptance of deposits :- The bank accepts three types of deposits from the public 1) Current account deposits 2) Fixed/term   deposit 3) Saving account deposits.

 B) Advancing Loans :- The different types of loans and advances made by banks are as follows – cash credit, demand loans, and short term loans and over draft.

UNIT-7
DETERMINATION OF INCOME AND EMPLOYMENT

Explain equilibrium level of national income using saving and investment approach. Draw a diagram in support of your explanation.

The equilibrium level of income and output is that level at which planned saving and planned investment are equal. In the diagram equilibrium is at e and equilibrium income is OY.
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At an income level OY1, planned savings are greater than planned investment. This means that household’s aggregate expenditure is less than output.as a result inventories increase. Firms, seeing a buildup of unplanned inventories start cutting production, and hence output, income and savings fall. This process continues till planned investments are equal.

At an income level OY2 planned savings are less than planned investment. This means that aggregate expenditure is more than output. Firms seeing a depletion of planned inventories step up production, and hence output and income increase. Savings increase. This process continues till planned savings and planned investments are equal.

Draw a straight line consumption curve. From it derive a savings curve explaining the process of derivation in this diagram:

(a) The level of income at which Average propensity to consume is equal to one.

(b) A level of income at which Average propensity to save is negative.

AC is the consumption curve and OA is the consumption expenditure at zero level of income. Income minus investments is savings. When income is 0, the economy’s consumption level is OA. Thus the corresponding level of savings is –OA .so A is the starting point of saving curve .At OB level of income consumption is equal to income so savings are 0 so B1 is another point on saving curve. Joining A and B and extending we get the saving curve S.
1. The level of income at which APC is equal to one is OB.

2. A level of income at which APS is negative is the level less than OB.



Explain the working of a multiplier with an example.

Ans. Multiplier tells us what will be the final change in the income, as a result of change in investment. Change in investment results in the change in income. Symbolically:
The working of a multiplier can be explained with the help of the following table which is based on the consumption that is, AI-1000 and MPC=4/5.
PROCESS OF INCOME GENERATION.

As per the table the initial increase in the investment of Rs 1000 there is a total increase in the income by Rs 5000 given MPC=4/5 . Out of this total increase in the income Rs 4000 will be consumed and Rs 5000 be saved. The sum of total increase in income is also derived as: Ay=1000+800-640+512+
infinity. The equilibrium level of income is s 300 core and at this point S (100) =i (100) the equilibrium may necessarily not be at the full employment level.
When saving exceeds planned investment means people are consuming less and spending more as a result AD is less than AS. This will lead to accumulation of more goods with producer .this will make the businessmen to reduce production consequently, output, income & employment will be reduced till the equilibrium level of income.
Draw a hypothetical propensity to consume curve from it draw the propensity curve to save curve
Ans. APC=C/Y       APS=S/Y 

Propensity to save curve 

Is drawn from propensity to consume curve 

When Y=C     APC=1

Till that point APS is negative at point's' 

When y>c there is a positive saving
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Explain the determination of income and employment with AD and AS. (Give schedule)
AD=C+I
AS=C+S       AS=Y (refers to countries national income)
The equilibrium level of income is determined at a point when AD=AS.
Equilibrium can be achieved at full employment and even at under employment situation. It may not be always at full employment condition in an economy.
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Ac is the consumption curve and OA is the consumption expenditure at zero level of income. Income minus consumption is saving. When income is 0, the economy's consumption level is OA. The corresponding level of saving is -OA.
So -a is the starting point of saving curve. At OB level of income consumption is equal to income, so saving are zero, so B is another point on saving curve . Join A and B and extend this line to S, AS is the saving curve.
a)   The level of income at which APC is equal to one is OB.
b)   A level of income at which APS is negative OY.
HOTS questions

Explain the equilibrium level of income determination with the help of savings and investment curves OR Explain multiplier with a diagram.


The equilibrium level of national income is that level at which planned saving and planed investment are equal. In the diagram equilibrium is at E and equilibrium income is OY*.
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At an income level OY, planned savings are greater than planned investment. This means that household’s aggregate expenditure is less than income. As a result inventories increase. Firms, seeing a buildup of unplanned inventories start cutting production, and hence output, income and savings fall. This process continues till planned savings and planned investment are equal. At an income level OY2, planned savings are less than planned investment. This means that aggregate expenditure is more than income. Firms, seeing depletion of planned inventories step up production, and hence output and income increase. Savings increase. This process continues till planned savings and planned investment are equal.

Complete the following Table
	
	
	
	
	
	
	

	Income
	AY
	S
	C
	AC
	MPC
	APC

	0
	-
	-20
	20
	-
	-
	-

	50
	50
	-10
	60
	40
	-
	-

	100
	50
	0
	100
	40
	-
	-

	150
	50
	30
	120
	20
	-
	-

	200
	50
	60
	140
	20
	-
	-


Ans 2.

	Income
	AY
	S
	C
	AC
	MPC
	APC

	0
	-
	-20
	20
	-
	-
	-

	50
	50
	-10
	60
	40
	0.8
	1.2

	100
	50
	0
	100
	40
	0.8
	1.0

	150
	50
	30
	120
	20
	0.4
	0.8

	200
	50
	60
	140
	20
	0.4
	0.7


Derive a savings curve from consumption curve with the help of a diagram.
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AC is the consumption curve and OA is the consumption expenditure at zero level of income. Income minus consumption is savings. When income is zero, the economy's consumption level is OA. Thus, the corresponding level of savings is - OA.
So, A1 is the starting point of saving curve At OB level of income consumption is equal to income, so savings are zero. So Bi is another point on saving curve Joining Ai and Bi and extending we get the saving curve S. The level of income at which APC is equal to one is OB A level of income at which APS is negative is the level less than OB.
Explain the concept of Inflationary gap with the help of a diagram.
ANS:
Inflationary gap is the excess of aggregate demand over and above its level required to maintain full employment equilibrium in the economy. Full employment equilibrium is struct at point E. If the level of  demand of employment increases to AD1, it is the excess of what is required to maintain full employment. This causes inflation. Hence the difference between AD1 and AD (EF) is called inflationary gap .

Explain the concept of Deflationary gap with the help of diagram.


Deflationary gap is the deficiency of AD required to maintain full employment equilibrium .Fulex ployment equilibrium as struck at point E .however, if the level of demand happens tobe AD , it is short of of its full employment level. Accordingly, deflationary gap occurs to the tune of AD1-AD= FG.

Outline the steps required to be taken in deriving saving curve from the given consumption curve . Use diagram.

ANS: 

Figure shows the derivation of saving curve from a given consumption curve.

It involves the following steps :

(i) We take OA’ = OA .because OA = consumption when Y=0 , so that , OA’(=OA ) is the negative saving when Y = 0 .It is indicated by -C̅ in saving function .
(ii) Point p on the saving curve is marked corresponding to point Q on the consumption curve . While Q indicates that Y=C . , point P indicates that S=0 .obviously ,when Y=C, S = 0 .
(iii) By joining points A’ and P and stretching it to form a straight lone , we get S curve . S function  is a linear C function.
{Note- Since MPC + MPS = 1 , MPS = 1 – MPC . So that while in C- function MPC is indicated by b , in S function MPC is indicated by b , in S – function it is indicated by 1- b.
Show diagrammatically, the effect on equilibrium level of income /output , of government spending.

Ans:  Figure illustrates how government spending affect equilibrium level of income. It is assume that like investment expenditure government spending is also autonomous of the level of income . So that government spinning’s  indicated by a straight above and parallel to the a existing AD function.

Thus , C+I+G is above and parallel to the C+ I line because G is assumed to be autonomous of income . Owing to upward shift in AD , equilibrium shifts from point E to E1. Equilibrium level of income increases from OL  to OL1.

 Explain the meaning of Underemployment equilibrium . Explain two measures    

by which full employment equilibrium will be reached .

ANS:  Underemployment equilibrium refers to the situation where AD= AS but all those who are able to work and willing to work(at the existing wage rate) do not get work.

Figure explain the situation of underemployment equilibrium.

Underemployment equilibrium occurs owing to deficient demand or the lack of aggregate demand(AD). In Figure, deficient demand is equal to FK. Accordingly, this can be addressed by way of increasing AD. Two important measures to raise AD and reach the situation of full employment areas

under:

(i) Public expenditure on public works, public welfare and public investment should be increased. All this will act as an injection of demand into the system and is expected to induce private

expenditure. Accordingly, aggregate demand is expected to rise and the situation of full employment equilibrium will be reached

(ii) Central bank should decrease the repo rate. It is the rate at which the central bank lends money to the commercial banks. A decrease in repo rate lowers the market rate of interest, promoting a rise in demand for credit. An expansion in the demand for credit leads to a rise in aggregate demand. Accordingly, the situation of full employment equilibrium will be reached.

 Explain the situation of deficit demand in an economy with the help of a diagram.

ANS:  Deficient demand refers to a situation when AD < AS ( corresponding to full employment level in the economy ).

Accordingly , there is a deflationary gap in the economy.

Figure illustrates the situation.

Full employment level of demand is indicated be AD1 (Intersecting the [image: image134.png]45°



 line at point F , the point of full employment equilibrium).

If demand level happens to be AD2  , the gap between AD1 and AD2 is equal to FG which is situation of deficient demand.
Explain the situation of excess demand in an economy with the help of a diagram.

ANS: Excess demand refers to a situation when AD> S (corresponding to full employment level) Accordingly , there is inflationary gap in the economy.

In figure , full employment requires FM level of aggregate demand . But it happens to be EM as shown in the figure .Accordingly, excess demand is equal to EF , which is known as Inflationary gap.

BALANCE OF PAYMENTS

1. Explain Determination of Equilibrium Foreign Exchange Rate with the help of diagram.
The price of a foreign currency in the foreign exchange market, is determined in the same way as the price of a commodity is determined in a market.

It is determined by Demand and Supply of Foreign Exchange. Exchange Rate is Determined – Foreign Exchange Rate of a currency is determined by the forces of demand or supply.   


                      


Equilibrium Exchange Rate – It is determined at a point where demand and supply of foreign exchange are equal. 

OQ= Quantity of US Dollars 

There is Inverse Relationship between Price of foreign exchange & Demand for foreign exchange. 

High Exchange Rate –Less Demand

Lower Exchange Rate- More demand  

When Foreign Exchange Rate falls there is more demand for Foreign Currency.

US Dollars from Rs. 50 to Rs. 45 which means less Rupees are needed to buy 1 Dollar. Therefore, imports increases.

(ii) It promotes tourisms to Foreign country (as dollar has become cheaper in comparison to Rupees ) .There is direct relationship between supply to Foreign Currency and Price of Foreign Currency, when price increase –supply increase, when price decrease -supply decrease. Therefore, downwards supply when Foreign Exchange Rate increases and supply also increases. US Dollar rises from Rs. 50 to Rs. 60 its supply also increases because home country’s goods (India) become cheaper to Foreign and export increases. 
UNIT-7

INCOME AND EMPLOYMENT:

Key concepts

· Aggregate demand and its components.

· Consumption function and Saving Function

· Propensity to consume and propensity to save

· Short run equilibrium Output Equilibrium level of income and output is determined where,1) AD=AS,  2) Planned saving =planned investment (S=I).

· Investment multiplier and the multiplier mechanism.

· Meaning of full employment and involuntary unemployment.

· Problems of excess demand and deficient demand.

· Measures to correct excess demand and deficient demand

· Aggregate demand in macroeconomics

It refers to sum total of expenditure on the domestically produced goods and services during the period of an accounting year.



AD = C + I
Four Components of Aggregate Demand

· Private consumption expenditure ( C )– it refers to total expenditure incurred by all household on the purchase of goods & services during an accounting year.
· Investment expenditure(I) - It refers to total expenditure incurred by all the private firms or capital goods.
· Government Expenditure ( G)– It refers to total expenditure incurred by govt. on consumer goods & capital goods.
· Net Export–It means Export – Import (X-M)

AD = C+ I+ G+ (X- M)
· Consumption Function-It expresses functional relationship between aggregate consumption and national income.  C= f ( Y )
Consumption function depends on Propensity to consume.
It is of two types:
1.Average Propensity to Consume (APC )
APC= C /Y
2. Marginal Propensity to Consume (MPC )
	NATIONAL

INCOME (Y)
	CONSUMPTION

(C)

	0
	20

	10
	25

	20
	30

	30
	35

	40
	40

	50 
	45




          c

           0

i)At lower level of income ,consumption is higher than income because there is  always same minimum level of consumption expenditure required even at 0 level of income. (past saving or borrowing). C > Y (Minimum level of consumption)=autonomous consumption.  

ii) After a point income is equal to consumption this point is called break-even point. C=Y .

iii)  As income increases consumption also increases but lower than the rate of increase in income .  C< Y     

MPC is the ratio of change in consumption(C) to change in income(Y) is known as Marginal Propensity to Consume. It indicates the proportion of additional income that is being spent on consumption.


MPC=∆C/∆Y


MPC+MPS=1

· Aggregate Investment is of two types
· Autonomous Investment : It is that expenditure on capital formation which is undertaken independently of the level of income.
· Induced Investment: It is directly related with the level of income.
AD = C+I
· Aggregate supply is the total amount of money value of goods and services that all the producers are willing to supply in an economy in a year.
        In fact , it refers to the national income of a country.
              Aggregate Supply = National Income
              Aggregate Supply (AS ) = Consumption ( C ) + Saving ( S)

    AS= C + S
· Saving Function-It shows the functional relationship between savings and income. S=f(Y)
           S= -C  + (1-b)Y    ( as we know S=Y-C)
	NCOME
Y
	SAVING
S

	0
	-20

	10
	15

	0
	10

	30
	5

	40
	0

	50
	5

	60
	10


Determination of equilibrium level of income 
Two Approaches
AD =AS
As we know that equilibrium level of national income is determined under the given condition of aggregate demand and aggregate supply, and has tendency to stick to that level i.e., where aggregate demand is equal to aggregate supply. AD=AS

When aggregate demand falls short off aggregate supply, than national income will decrease.

When AD<AS, then there would be stockpiling and producers will produce less. National income will fall and as we know positive relationship exists between national income and consumption, so consumption will fall, which will thereby decrease the aggregate demand till we reach the equilibrium.

 S = I
The economy achieves equilibrium level of income is achieved when S=I
                                                           S

S 
E                                     I

I

     0                      Y2      Y    Y1

    -C                                                 National Income 

In the above figure, the equilibrium level of national income is attained at point E, when savings= investment which is derived from a point where S=I.

If due to some disturbance we divert from our position like when investment>savings (at Y2), then production will have to be increased to meet the excess demand. Consequently, national income will increase leading to rise in saving until saving becomes equal to investment. It is here that equilibrium level of income is established because what the savers intend to save becomes equal to what the investors intend to invest.
	EQUILIBRIUM
	AD= AS

	If AD> AS
	If AD < AS

	Decrease in Inventory Stock
	Increase in Inventory Stock

	Increase in Employment of Factor Services
	Decrease in Employment of Factor services

	Increase in the level of Output of goods & services
	Decrease in the level of Output of goods & services

	Ultimately AD=AS
	Ultimately AD=AS


· full employment equilibrium refers to the situation where aggregate demand is equals to aggregate supply and all those who are able to work and willing to work (at the existing wage rate) are getting work.
· Over full employment refers to the situation when equilibrium is attained , that is aggregate demand is equal to aggregate supply beyond the full employment level.

· Excess Demand / Inflationary Gap

When economy aggregate demand exceeds “aggregate supply at full employment level”, the demand is said to be an excess demand.
 When in an economy aggregate demand exceeds ‘aggregate supply at full employment level’, the demand is said to be excess demand and the gap is called inflationary gap.
Causes 

1. Increase in household consumption demand due to rise in propensity to consume.

2. Increase in private investment demand because of rise in credit facilities.

3. Increase in public (government) expenditure.

4. Increase in export demand.
5.Increase in money supply or increase in disposable income Impacts
· Effect on general price level 
A rise to general price level.
· Effect on output
No effect on the level of output.
· Effect on employment
No change in the level of employment.

      AD

                                 F


                              G

                                                              Full 
                                                               Employment
0 Y

NATIONAL INCOME
EXCESS DEMAND=FG
· Deficient Demand/ Deflationary Gap When in an economy aggregate demand falls short of aggregate supply at full employment level the demand is said to be deficient demand and the gap is called deflationary gap.
· Causes -Decrease in household consumption demand due to fall in propensity to consume.

· Decrease in private investment demand because of fall in credit facilities.

· Decrease in public (government) expenditure.

· Decrease in export demand.

· Decrease in money supply or decrease in disposable income
                                                                            Y

                       AD                                         F               AD

                                                              G               AD2


                                              Y2              Y

0 National Income

Deficient Demand=FG

Impact
· Effect on general price level .A fall to general price level.
· Effect on output Low effect on the level of output.
· Effect on employment  Involuntary unemployment.
· Measures to correct Excess Demand and Deficient Demand

	 
	Excess Demand/ Inflationary Gap
	Deficient Demand/ Deflationary Gap

	I.Monetary Measures
	 
	 

	a)Bank Rate
	Increases
	Decreases

	b) Repo Rate
	Increases
	Decreases

	c) Open Market Operations
	Sale of securities
	Purchase of securities

	d)Cash Reserve Ratio
	Increases
	Decreases

	d)Margin requirements
	Increases
	Decreases

	II.Fiscal Measures
	 
	 

	a)Public Expenditure
	Decreases
	Increases

	b)Taxation
	Increases
	Decreases

	c)Deficit Financing
	Decreases
	Increases


Numerical Examples

Formulae

APC=C/Y

APS= S/Y

APC+APS=1

MPC=     C/   Y

MPS=     S /   Y

MPC+MPS=1

K=   Y  /    I

K= 1/ 1-MPC

K= 1/ MPS

C=     C    + b Y

1. Complete the following table:




	Income(Y)
	Consumption ( C) 
	MPS
	APS

	0
	40
	
	

	50
	70
	
	

	100
	100
	
	

	150
	120
	
	


A

	Y
	C
	S
	     S
	     Y
	APS
	MPS

	0
	40
	-40
	-
	-
	-
	-

	50
	70
	-20
	20
	50
	· 0.4
	0.4

	100
	100
	0
	20
	50
	0
	0.4

	150
	120
	30
	30
	50
	0.2
	0.6


                 S=Y-C ; APS=S/Y,  MPS=   S/  Y

Using the equation of consumption function: C= C  + b Y, calculate consumption expenditure at the income level Rs 1000 crore, if autonomous consumption is Rs 20 crore and 20% of additional income is saved.A given MPS= 0.2 ( as20% of additional income is saved) MPC= 0.8 (=1-MPS) 

C= 20 + 0.8 x 1000= Rs 820 crore With the help of saving function S= -50 + 0.2 Y. calculate consumption expenditure at the income level of Rs 5000 crore.

 S=  -  C    + (1-b) Y

                   C = 50 + 0.8 x 5000= Rs. 4050 crore
UNIT 9

BALANCE OF PAYMENTS

Balance of Payment. :Balance of payments is an accounting statement that provides a systematic record of all the economics transactions between the residents of a country and the crore rest of the world in a given period of time.
A country exported goods worth Rs. 2600 crore whereas its imports amounted to Rs.1700 crore. Calculate the volume of balance of trade.

Ans. BOT=Exports –Imports=Rs. 2600 crore –Rs. 1700crore =Rs. 900 crore.

Distinguish between balance of trade and balance of payments.

Ans.

	Balance of trade
	Balance of payment

	BOT is the systematic record of the value of visible exports and imports in a country
	BOP is the systematic record of all economic transactions of a country

	It is a narrow concept. 
	It is a wider concept.

	It is an incomplete record of economic transactions with rest of the world.
	It is a complete record of economic transactions with rest of the world and presents a true picture of economic relations with other countries.


Distinguish between BOP current account and BOP capital account.

	Current Account
	Capital Account

	Current account of BOP records all those transactions between the residents of a country and the rest of the world ,which do not cause a change in the assets or liabilities  of the residents of the country or its government.
	Capital account of BOP records all those transactions between the residents of a country and the rest of the world which cause a change in the assets or liabilities of the residents of a country or its government.

	It is a flow concept .
	It is a stock concept.

	Current account = visible trade+ invisible trade +unilateral transfers +incomes from investment and work
	Capital account= borrowing and lending+ foreign direct investment and portfolio investment + changes in foreign exchange reserves


 Components of current account of BOP.

The main components of current account of BOP are as follows:

a) Visible trade or Merchandise transactions---In foreign trade, there will be inflow and outflow of foreign exchange on account of  export and import of visible goods respectively. Receipts from exports and payments for imports are shown on credit and debit items respectively.
b) Invisible Trade----There will be receipts and payments of foreign exchange for services (invisible items) sold and purchased by the residents of a country to and from the rest of the world respectively.
c) Unilateral or unrequited transfers---These refer to those receipts and payments which take place without any corresponding service in return in the current period like gifts, donations, remittances and other one way transactions. Receipts and payments of unilateral transfers from and to abroad is shown on the credit and debit side respectively.
Explain the main components of capital account of BOP. 

Ans. Capital account is related to assets and liabilities of the residents of the country or its government and the components are as follows:

a) Private transactions--- Private sector of the country receives short -term and long-term foreign loans. Receipts of such loans are recorded as credit items and their repayment is recorded as debit item.
b) Official transactions---Government borrows loans from foreign government and international organizations to finance the deficit in the balance of payments. Receipts of such loans are recorded on the credit side and repayment of loans is recorded on the debit side.
c) Foreign Direct Investment---It refers to purchase of an asset in the rest of the world which gives full control to the buyer over the asset. Purchase and sale of assets abroad is recorded on the debit and credit side of BOP respectively.
d) Portfolio Investment------It refers to purchase of an asset in the rest of the world which does not give full control over the asset. Purchase of shares of a foreign firm gives only partial control over the asset. Purchase of assets abroad is recorded on the debit side and sale of assets abroad is recorded on credit side of BOP.
 Differentiate between autonomous and accommodating items.
	Autonomous Items 
	Accommodating Items

	These refer to those economic transactions which take place due to economic motive i.e. these are related to economic transactions which are determined by profit maximization.
	These are not related to those transactions which are determined by profit maximization.

	These transactions do not maintain BOP identity i.e. these are not conditioned by positive or negative BOP status of the country.
	These transactions  maintain BOP identity i.e. these are conditioned by positive or negative BOP status of the country

	These transactions are undertaken by private sector and also government sector.
	These transactions are undertaken by the government sector only.

	These transactions take place on both current and capital account.
	These transactions take place on capital account only.

	These are known as above the line items.
	These are known as below the line items.


FOREIGN EXCHANGE RATE

What is foreign exchange rate?

Ans. Foreign exchange rate is the rate at which the currency of one country is exchanged with the currency of another country.

Define fixed exchange rate.

Ans. Fixed exchange rate is the rate which is fixed in terms of gold or any other currency by the government and remains fixed till it is changed by the government or monetary authority.

What is flexible exchange rate?

Ans. Flexible exchange rate is the rate which is determined by the interaction of demand and supply of foreign exchange in the foreign exchange market.

What are the sources /determinants of demand for foreign exchange ?

Ans.The demand of foreign exchange arises in order to make payment in foreign currency.The sources are 

a) Import of goods and services

b) Tourism

c) Remittances by foreigners working in India

d) Repayment of interest and loans.

e) Extension of loans to foreigners.

What are sources /determinants of supply for foreign exchange?

  Ans. The major sources of supply of foreign exchange are as follows:

a) Export of goods and services

b) Foreign tourist in India

c) Remittances by Indians working abroad.

d) Foreign direct investment

e) Purchase of shares by foreign investors (portfolio investment)

f) Deposits by non- resident Indians
 How is equilibrium exchange rate determined?

Ans. Equilibrium exchange rate is determined at a point where the quantity demanded and the quantity supplied of foreign exchange are equal. Negatively sloped demand curve  and positively sloped supply curve of foreign exchange intersect each other at point E. Point E shows equilibrium between demand and supply of foreign exchange. Equilibrium rate of exchange is E at which the quantity demanded and the quantity supplied are equal.

Define depreciation of currency.

Ans. Depreciation of currency means that there is a fall in the value of domestic currency in terms of foreign currency.

 Define appreciation of currency.

Ans. Appreciation of currency means that there is a rise in the value of domestic currency in terms of foreign currency.

 Define managed floating rate system.
Ans. Managed floating rate system is a system in which foreign exchange rate is determined by market forces and stabilizes the exchange rate in case of appreciation or depreciation of domestic currency.

Define a Bank

Ans. Bank is an institution which borrows and lends money. 

 Write the one main function of commercial bank in an economy.

Ans. One main function of bank in an economy is – Acceptance of  deposits :- The bank accepts three types of deposits from the public  1) Current account deposits 2) Fixed/term deposit 3) Saving account deposits.
Define Central Bank. Write the name of Central Bank of India.
Ans. Central Bank designs and controls the monetary policy of the country. The name of Central Bank is Reserve Bank of India.
Why are all financial institutions not commercial bank?
Ans. A financial institution becomes a commercial bank only when it  performs both the activities of a) Accepting deposits from the people and b) Making loan to the people.
Which institution is responsible for the monetary policy of the   country?
Ans. The Central bank is responsible for the monetary policy of the Country.
Name the institution which issued the currency notes of the  country.
Ans. The Central Bank(Reserve Bank of India) issues the currency note of the country.

Write the main functions of the Commercial Bank.

Ans. The main functions of the Commercial bank are:-

 A) Acceptance of deposits :- The bank accepts three types of deposits from the public 1) Current account deposits 2) Fixed/term deposit 3) Saving account deposits.

B) Advancing Loans :- The different types of loans and advances  made by banks are as follows – cash credit, demand loans, and short term loans and over draft.
(c)Credit Creation :- Banks create credit by giving more loan than  their cash reserves.

Write the functions of Central Bank.

Ans. 1) Currency Authority
        2) Banker to the government

        3) Bankers Bank and supervisor 

        4) Controller of Money Supply and Credit

 What is the meaning of Banking?

Ans. Banking is defined as the accepting for the purpose of landing or investment of deposits.

How the Bank rate controls the credit?

Ans. Bank rate is the rate of interest at which Central bank lends to Commercial banks. By raising the bank rate central bank raises the  cost of borrowing. This forces the Commercial banks to raise in turn the rate of interest from the public. As lending rate rises demand for loan for investment and other purposes falls. 

Which are the Quantitative instrument to control the money supply and credit in the economy?
Ans: The Quantitative instrument to control the money supply and credit in the  economy are 
1) Bank Rate policy – the bank rate is the rate at which the control bank lends funds as a lender of last resort to banks against approved securities. 
2) Open market operation :- Open market operation is the buying and selling of government securities by the Central Bank from/to the public and bank on its own account. 

  3) Varying Reserve Requirements :- Banks are obliged to maintain reserves with the Central bank on two account. One is the cash reserve ratio and the other is  Statutory Liquidity Ratio. Varing CRR and SLR are tools of monetary and credit control. 

Write the Qualitative instruments to control the credit of the Central Bank.

Ans. The Qualitative instruments to control the credit of the Central

        Banks are :
A) Imposing margin requirement on secured loans:- A margin is the difference between the amount of the loan and market value of   the security offered by the borrower against the loan. 
B) Moral Suasion :- This is a combination of persuasion and pressure that the Central Bank applies on the other banks in order to get them to fall in line with its policy.
C) Selective credit controls :- These can be applied in both positive as well as a negative manner.
Write the two function of each Central Bank and Commercial  Bank.
Ans. Function of Central Bank :-        

   1) Currency Authority :- The central Bank is the sole authority for the issue of currency in the country. All the currency issued by the central bank is its monetary liability. This means that the central bank is obliged to back the currency with assets of equal value.            

   2) Banker to the government :- The central bank acts as a banker to the government both central as well as state governments. It carries out all the banking business of the government and the government keeps its cash balances on current account with the central bank.

Functions of the Commercial Bank:-

  A) Acceptance of deposits :- The bank accepts three types of deposits from the public 1) Current account deposits 2) Fixed/term deposit 3) Saving account deposits.

 B) Advancing Loans :- The different types of loans and advances made by banks are as follows – cash credit, demand loans, and short term loans and over draft.

What is aggregate demand in macroeconomics?

A- It is aggregate expenditure on ex-ante (planned) consumption and ex-ante (planned) investment that all sectors of the economy are willing to incur at each income level.

What is aggregate supply in macroeconomics?


A- Aggregate supply is the total amount of money value of goods and services, (which is paid to the factor of production against their factor services) that all the producers are willing to supply in an economy.

What is consumption function?





A- Consumption function expresses functional relationship between aggregate consumption and national income. C=f(Y)
  Explain savings function.






A- (i) Propensity to save (or saving function ) shows the functional relationship between savings and income.

S=f(Y)

S=-C+(1-b)Y

Can the value of APC be less than zero?




A- No, because even at zero level of income, we will consume something i.e., autonomous consumption.

Why can value of MPC be not greater than one?

A- It is so because Keynes’ psychological law of consumption state that when income increases, consumption all increases but at a lesser rate .So, increases in consumption is always less than increase in income , i.e.,  

MPC= ∆C/ ∆Y=  is always less than one.

Can the value of average propensity to save be negative? If yes, when?

A- Yes, the value of average propensity to save can be negative when consumption is more than national income, i.e. , before the break-even point.
What can be the maximum value of marginal propensity to save?

A- The maximum value of marginal propensity to save is one. It is possible only when MPC= 0 i.e., the entire additional income is save.

What is the relationship between APC &APS?



A- The sum of APC & APS is equal to one i.e.,  APC+APS = 1.

 What is the relationship between marginal propensity to save and marginal propensity to consume?



A-The sum total of MPC and MPS is equals to one i.e., MPC+MPS=1.
Why APC falls with the increase in income?



A- APC falls continuously with the increase in income because the proportion of income spent on consumption keeps on decreasing.

What can be the maximum value of marginal propensity to save?


A- The maximum value of marginal propensity to save is 1. It is possible only when MPC=0 , i.e., the entire additional income is saved.

Give the meaning of autonomous consumption.


A-It refers to minimum level of consumption (i.e. C) ,which is needed for survival i.e., consumption at zero level of national income .

Define the term ‘multiplier’. How do we measure it?

ANS- the ratio of change in national income ( ∆Y) due to change in investment (∆I)is known as multiplier (K).

                                             (k)=∆Y/∆I

What is meant by excess demand in macroeconomics? 
ANS-When economy aggregate demand exceeds “aggregate supply at full employment level”, the demand is said to be an excess demand.

Define deflationary gap.






ANS-When in an economy aggregate demand falls short of aggregate supply at full employment level the demand is said to be deficient demand and the gap is called deflationary gap.

Give the meaning of full employment.




ANS- full employment equilibrium refers to the situation where aggregate demand is equals to aggregate supply and all those who are able to work and willing to work (at the existing wage rate) are getting work.

What is Marginal Propensity to Consume? How is it related to Marginal Propensity to save?






A- The ratio of change in consumption(C) to change in income(Y) is known as Marginal Propensity to Consume. It indicates the proportion of additional income that is being spent on consumption.


MPC=∆C/∆Y


MPC+MPS=1

 In an economy plan saving is greater than plan investment. Explain the how the economy achieves equilibrium level of national income.




ANS: It refers to the point that has come to be established under the given condition of aggregate demand and aggregate supply, and has tendency to stick to the level under this given condition.

Therefore, AD=AS

                 C+I = C+S

                  I= C+S-C =S

As given in the examination problem, when planned saving is greater than plan investment, then national income will decrease .

When saving > investment (at Y1), then there would be stock-pilling and producer will produce less. National will fall and as we know positive relation exists between national income and saving, then saving will star falling until it becomes equal to investment. It is here the equilibrium level of income is derived.

What happens to the level of national income when aggregate demand falls short of aggregate supply?

ANS-As we know that equilibrium level of national income is determined under the given condition of aggregate demand and aggregate supply, and has tendency to stick to that level i.e., where aggregate demand is equal to aggregate supply.

As is given in the examination problem that when aggregate demand falls short off aggregate supply, than national income will decrease as shown in the above mentioned diagram.

When AD<AS(at Y1),then there would be stockpiling and producers will produce less. National income will fall and as we know positive relationship exists between national income and consumption, so consumption will fall, which will thereby decrease the aggregate demand till we reach the equilibrium.

What are the reasons or causes for deficient demand ?

ANS: The main reasons for deficient demand are apparently the decrease in the four components of aggregate demand :
· Decrease in household consumption demand due to fall in propensity to consume.

· Decrease in private investment demand because of fall in credit facilities.

· Decrease in public (government) expenditure.

· Decrease in export demand.

· Decrease in money supply or decrease in disposable income.

What are impacts or effects of excess demand on price,   output, employment?

ANS-1.Effect on General Price Level: Excess demand gives a rise to general price level because it arises when aggregate demand is more than aggregate supply at a full employment level. There is inflation in economy showing inflationary gap. 

2. Effect on output: excess demand has no effect on the level of output. Economy is at full employment level and there is no idle capacity in the economy. Hence, output cannot increase.

3. Effect on employment: there will be no change in the level of employment also. The economy is already operating at full employment equilibrium, and hence there is no unemployment.
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Part-A

1)Suppose there are 20 consumers for a good and they have identical demand functions: d(p)=10-3p for any price less than or equal to 10/3 and d1(p)=0 at any price greater than 10/3.  Derive the market demand function.

2)What is breakeven point in perfect competition?

3)What is price celling ?

4)What is the equilibrium condition of the market operating under monopoly?

5)At which point does the SMC curve cut the SAC curve? Give reason in support of your answer.

6)Graphically shows when a firm under perfect competition earns super normal profit.4

7) State the relationship between AP and MP. From the law of variable proportion how can we derive marginal product?

8)What is inferior good? What is gifen good? Consider the demand for a good. At price Rs 4  the demand for a good is 25 units. Suppose the price of the good increases to 5. And as a result the demand for the good falls to 20 units. Calculate the price elasticity of demand.

9) What is the shape of AFC curve? Explain the shape of marginal cost curve.

10) what do you mean by monopoly? State its main features.

11)What is elasticity of supply. A firm earns a revenue of Rs 50. When the market price of a good is Rs 10. The market price increases to Rs 15 and the firm earns a revenue of Rs 150 what is the price elasticity of the firms supply curve? What is the equilibrium condition of the market operating under perfect competition when there is fixed number firms?

12)Distinguish between perfect oligopoly and imperfect oligopoly. Also explain the “interdependence between the firms” feature of oligopoly.

Part -B

13) Demand deposits include (chooe the correct alternative)

(i)Saving account deposits (ii)Saving account deposits and fixed deposits 

(iii)current account deposits and fixed deposits (All types of deposits

14) Define marginal propensity to consume.

15) define government budget.

16) If the marginal propensity to consume is greater than marginal propensity to save,  the value of multiplier will be

(i)Greater than 2 (ii)Less than  2 (iii) equal to 2 (iv)equal to 5

17) Explain “difficulty in storing wealth” problem faced in the barter system.

Or

Explain the “medium of exchange” function of money.

18) Explain the “bankers bank” function of the central bank.

OR
       Explain the process of credit creation commercial banks.

19) What do you understand by ‘parametric shift of a line? How does a line shift  when its (i)slope increases (ii) its intercept increases

20) What will be the effect of the following on money supply

      (i) Fall in CRR (ii) Rise in SLR (iii) Rise in bank rate

21) Explain the distinction between “statutory liquidity ratio” and “cash reserve  

       ratio”.

22) What is foreign exchange rate? Distinguish between fixed exchange rate 
       flexible exchange rate.

23)what is aggregate demand? What are its main components? Define APC and  APS.

24) Briefly explain the income method of measuring national income
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General Instruction:

1. All questions in both sections are compulsory. However, there is internal choice in some questions.

2. Marks for questions are indicated against each question.

3. Questions No 1-4 and 13-16 are very short answer questions carrying 1 mark each.

They are required to be answered in one sentence.

4. Questions No 5-6 and 17-18 are short answer questions carrying 3 marks each. Answers to be them should not normally exceed 60 words each.

5. Questions no 7-9 and 19-21 are also short answer questions carrying 4 marks each. Answers to be them should not normally exceed 70 words each.

6. Questions no 10-12 and 22-24 are long answer questions carrying 6 marks each. Answers to be them should not normally exceed 100 words each.

7. Answers should be brief and to the point and the above word limit to be adhered to as far as possible

SECTION-A

1.Find the odd one out with reference to cost.





a. Expenditure on fuel


b. Depreciation

c. Expenditure on raw material

d. Wages paid to labour

  2.  A producer is set to be in equilibrium under perfect competition when:                              
 a. AR=MR=Price and mc curves is falling when MC=price

b. Price=MC and MC curve is rising after the point of equally.

c. Price > MC and MC is falling. 
d. Any of the above.
3. What will be the supply in a market period?




                
                a. Less elastic



b. More elastic


        c. Perfectly elastic


c. perfectly inelastic

4. If both demand and supply curve equally shifts towards left then:



 
a. Equilibrium price will decrease but quantity cannot be determined.


b. Both equilibrium price and quantity will decrease.


c. Both equilibrium price and quantity will increase.


d. Equilibrium price will be constant but quantity decrease.

5. Price elasticity of demand of a good is unitary. When its price per unit falls by one rupee its demand rises from 16 to 18 units. Calculate the price before change.












6. State three features of monopoly market. 







Or

   State three features of perfect competition market.

7. Distinguish between positive and normative statements with suitable example.



Or

    Define production possibility frontier. Classify the following into:

a. Reasons for Rightward shift in PPC

b. Reasons for leftward shift in PPC

c. No change in PPC

1.Decreases in Resources.

  2. Transfer of Resources.

3. Foreign Direct Investment
            4. Leaving a company to join another,

5. Tsunami,                                            6. Training of Labour.
8. Distinguish between ‘increases in quantity demanded’ and ‘decreases in demanded’ .              
9. Find producer’s equilibrium level and profit level at each unit.


	Price Per Unit(Rs)
	Units sold
	Total Cost(Rs)

	8
	1
	5

	7
	2
	8

	6
	3
	12

	5
	4
	15

	4
	5
	19


10.A consumer consumes only two goods. Explain the conditions of consumer’s  equilibrium with the help of the utility analysis.



11. Giving reasons, state whether the following statements are two or false

 a. Constants return to scale means proportionate increase in total output is equal  to  proportionate increase in input

b. When AC falls, AC>MC.

c. AR curves always lies above the MR curve

d. If a straight line upward slopping supply curve shoots from the Y-axix, Es<1.






Or

State the difference phase of change in total product and marginal product in the law of variable proportions. Also show the same in a single diagram.


12. Market for a good is an equilibrium. Explain any three conditions in which equilibrium price decreases when there is change in demand, supply or in both.
SECTION-B

13. What is involuntary unemployment?






14.  The value of Multiplier will be infinite when:





a. Marginal propensity to save is Zero.

b. Marginal propensity to consume is one.

c. Change in consumption is equal to change in income.

d. All of the above.

15. Which of the following statements is true?





 a. Fiscal deficit is the difference between total expenditure and total receipts.

 b. Primary deficit is the difference between total receipts and interest payments.

c. Fiscal deficit is the sum of primary deficit and interest payments.

d. None of these.

16. Which one of the following is a combination of direct taxes? 


a. Excise duty and wealth tax


b. Service tax and income tax.


c. Excise duty and service tax


d. wealth tax and income tax.

17. When exchange rate in a country falls, what impact is it likely to have on imports and how?
















Or

Explain the effect of appreciation of domestic currency on exports.

18. Differentiate between Balance of  Trade and Balance of payment.

19. Distinguish between Stock and Flow with suitable examples.


20. Calculate marginal propensity to consume from  the following data about an   economy which is  in equilibrium.






 National income = 2,500, Autonomous consumption expenditure =400,

     Investment expenditure =200.

21. What is the difference revenue expenditure and capital expenditure? Explain how taxes and government expenditure can be used to influence.







Or

Find (a) fiscal deficit and (b) primary deficit from the following.










(Rs. In Crore)

(i) Revenue expenditure




70,000/-

(ii) Borrowings 





15,000/-

(iii) Revenue receipts




50,000/-

(iv) Interest payments


                 25% of revenue deficit
22. Calculate ‘Gross National product at factor cost’ from the following data    

       by(i) income method and (ii) expenditure method



(Rs. In Crore)

(i) Private final consumption expenditure.


 1000

(ii) Net domestic capital formation



   200

(iii) Profit






             400

(iv) Compensation of employees



   800

(v) Rent






             250

(vi) Government final consumption expenditure

   500

(vii) Consumption of fixed capital



       60

(viii) Interest






                150

(ix) Net current transfers  from rest of the world.

  (-)  80

(x) Net factor income from abroad



  (-)  10

(xi) Net exports. 





            (-)  20

(xii) Net indirect tax





                 80

23. Explain ‘credit creation’ function of commercial bank.







Or

How can you say that ‘Central Bank ‘ of a country is an ‘Apex Body’ of its monetary system? Explain with suitable headings.

24. Explain the Determination of income and Employment by AD=AS approach. 

Is it necessary that of this level of income Saving and investment must be equal to each other.                                                                                                                                       
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		Output		AFC		AVC		AC

		0		  -		   -		 -

		1		20		18		38

		2		10		15		25

		3		6.7		13.3		20

		4		5		12.3		17

		5		4		12.2		16

		6		3.3		13		16
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		OUTPUT		PRICE		TR		AR		MR

		1		5		5		5		5

		2		4		8		4		3

		3		3		9		3		1

		4		2		8		2		-1

		5		1		5		1		-3



When MR is positive (MR>0), TR rises

When MR is zero(MR=0), TR is maximum

When MR becomes negative (MR<0),TR falls

How do changes in MR affect TR?

i)If MR increases, TR increases at increasing rate.

ii)If MR is constant, TR increases at constant rate.

ii)IF MR falls, TR increases at diminishing rate. 

What is MR? How is it related to AR?

MR refers to the change in TR due to sale of an additional unit. 

Relation – (i)If AR (Price) is constant, MR = AR

             (ii)If AR (Price) falls, MR < AR., 

                   (iii)  If AR (Price) rises, MR > AR









image2.png

Reverue

™

[—

output

MR













 

Under imperfect market AR will be downward sloping – which shows that more units can be sold only at a less price.

MR falls with every fall in AR / price and lies below AR curve.

TR increases as long as MR is positive.

TR falls when MR is negative.

TR will be maximum when MR is zero.



TOTAL  REVENUE     

Relationship between TR and MR.

 (When price falls with the increase in sale of output)
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		OUTPUT		PRICE		TR		AR		MR

		1		5		5		5		5

		2		5		10		5		5

		3		5		15		5		5

		4		5		20		5		5

		5		5		25		5		5

		 		 		 		 		 







RELATION BETWEEN   AR AND MR:-

AR UNCHANGED AS OUTPUT CHANGES. IT IS BECAUSE PRICE IS CONSTANT. GRAPHICALLY, AR CURVE IS PARALLEL TO XAXIS. SUCH AN AR CURVE IS PERFECTIVELY ELASTIC DEMAND CURVE.



AS OUTPUT INCREASES THERE IS NO CHANGE IN MR. IT IS BECAUSE THE PRICE PER  UNIT IS UNCHANGED. GRAPHICALLY, THE MR CURVE IS PARALLEL TO XAXIS AND COINCIDES WITH THE AR CURVE.

SCHEDULE  AND DIAGRAM
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RELATION BETWEEN AR ANDMR:






4.Marginal Cost

   Marginal cost is the increase in the total cost resulting from one unit increase in output. It may be called incremental cost. Thus,      SMC=     TC/   Q

                     SMC= TC n- TC n-1 Here, TC n= TC of n unit of output.

                                                                   TCn-1= TC of n-1 unit of output.





		Q		TC		MC														

		0		20		  -														

		1		38		18														

		2		50		12														

		3		60		10														

		4		69		9														

		5		81		12														

		6		98		17														
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2. Average Variable Cost 

   Average Variable Cost can be obtained by dividing the total variable cost (TVC) by the quantity of output (Q).

                          AVC=TVC/Q



		Q		TVC		AVC																

		0		0		    -																

		1		18		18																

		2		30		15																

		3		40		13.33																

		4		52		13																

		5		65		13																

		6		82		13.67																

		7		106		15.14																

		8		140		17.5																
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2. AVERAGE VARIABLE COST

average Vasiable Costcan e obiosd by dividin the
ot vavibl ot (V) by he gty of utp: (@

Ave=TvCQ






3. Average Cost-

   Average cost is obtained by dividing the total cost (TC) by the quantity of output (Q). Thus AC is per unit cost of production.

                                Diagrammatically the vertical summation of average fixed cost and average variable cost curves gives us the short run average cost curve.

                                  SAC = TC/Q

                                          OR

                            SAC = AFC + AVC

























3.Average Cost-
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